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M,0,. The metal would belong to which
group of the modern periodic table ?

(A) 1A
(B) IA
(C) MA
D) VA

DET/CHEM (3)

PART-I
(CHEMISTRY)
1. (a) Carbonates .of Ca and Mg cause 1. (@) G?I@Q]Elﬂ@ ﬂiSﬁ}QQﬂ‘a G‘IG@IGG‘G‘
~ hardness of water. 6aIg 99 W 62IRAN
(b} Lime removes only te.mporary (b) QR 699% QI HIRG 9Q 6Q |
hardness
) ; () @QIQ&IGQI@I Q9w ﬂlm %IQQ
(c) Washing soda removes only Q@ 968
permanent hardness. - |
(A) (a)is correctand (b) and (c) are (A (@) B/ (B) 8 (o) R
wrong | :
* (B) (b)iscorrectand (c) and (a) ‘are (B). () R 9&° (c) B(a) R
wrong. ' - " : |
(C)(o)is correct and (a) and (b) are ' '(C) (©) 0R 9e° (@) 6 (b) Ym
Wrong : . ' = S
(D) (@), (B)and (¢) are wrong (D)@, ?) 6 () R
2. The formula of a metallic oxide is 2 \er a;gq E!QQI!@@Q ACRQ M, ()

26% | 81&19‘&? AdyI9 QIQENea @@

7 MIQ@ GG?@ gqa GQIEI?_LQ ?.
[y IA
(B) IA

(C) A

D) IVA

( Space For Rough- Work )

{ Turn Over’)



3.

6.

(a) Air pollution causes acid rain.
(b) Acid rain causes water'poﬂution. '
(c) Water pollution causes soil pollution.

(A) (a) an.d (b) are cbrr_e_ct and (c) is
wrong '

. (B)(b)and (c) are correctand (@) 1s

wrong

(C)(c) and (a) are correct and (b) is

‘wrong -

(D)(a) , (b) and (c) are correct

The ore of w_hiéh metal is not suitable
for electrolytic reduction ?

(&) Mg

(B) Zn

(O) Al

D) Li

DET/CHEM (3)

(@) @19 928« 6aiq gl g4 |

(b)) gqedl sid §9 9gEs ga |
) a@fgc@a egquaem 9584 @

(A) (a) 6 (b) OQ Qe (C) ‘@ﬁﬂ

® ‘_@ (©BRYE (@ W
- (© @8 @8R () gR

(D)-a), ()6 (c) OR

6. 699 AR 84, e@gq@@ RGN em

31?&9951@ ?

s ‘_(A) Mg

" (B) Zn

(C©) Al

L

~(Space For Fough Work)

.« ( Twrn Qver)



DET/CHEM (3)

. '8. How many electrons take part in the 8. QISROIQARARE &g GORER 66610

formation of a carbondioxide molecule ? - QENRER, QG 6R2AIF ?
@2 R a2
(B4 |  (B)4
©s ©6
D)8 - | - (D)8

9, The mass of 1-12 litres of carbon- 9. AIG® 919 8 QITAIGIER 1-12 AR

dioxide at NTP would be o ~ QIRLIAARARGS Q] 628 -
(miwg -~:' _' ‘f-(mi%gn | |
(B)2.10g  ®210g.

©215g I C©2159.

(D)'z-zog' R . Dy220q.

~{ Space For Rough Work )

(5) ' . ) ( Turn Over )



DET/CHEM (3) -

12. (a) Electrovalent bonds are generally | 12, (a) QSIS Ellq%‘@ aduis aiesa

. formed between the elements at the _ gR gieea  aal gﬁm@q@@- :
- two ends of the modern penodlc _ S RIER QQYQ aeaiey Qe 90% p
table. 6gI@adg |

(b) Covalent bonds -are. generally e e
formed between the non-metals. (b) QIgSIcs TIGIER AR
. R A S - JLLedio Qﬁ‘ 610@ G@IQ&IN I
(¢) Electrovalent compounds have

low melting points and covalent - (C) ggqu’eg]m GQ]GIG@@Q@GI%‘IG?
compounds have high melting L QF 8N e QRAEiRT sDltR-
points ' | S JEea GRRIE 2R ard |

(A) (a) and (b) are correct and (c) is (A (@ ('3_.(b') o e (c) gm
wrong ‘ : ' : - .

(B) (&) and (¢) are correctand: (@) is (B) (&) 6 (c) OR 96" (@) M
wrong L.

| (C) (¢) and (a) are correct and () is : (C) (¢) 6 (d) 0] 9e° (b) R
wrong B : : o

(D) (@), (b) and () are comect (D) (@), )6 (c) OR

RN YT Y R

. (7) ‘ - R { Turn Over))



 DET/CHEM (3)

: 14_._-W;hich one belongs to anotherclass ? - 14, 6998 2y 666199 .'?_
(A) 'Bituméh/Asﬁhalt e _' ,' (A)'/éqém/aiqmm

| 'N(B)_ Pitch/Coal:tar '- | '. B (B) @Q/'g“éé@]@ -
(€) Coal | | (€) exiaq

(D) _C()ke o (D)'Sﬁ'léﬁ o

1‘5.-‘.'Which.dne_-,is different  from the 15, CaGE Zigy Geaid 0@‘@9’. 2
~other three ? 0. - . - : ' o

VA Lime owes
, '._.._-'(B.‘) Lime _stqr}e- | | - < (B) QRaaQ.
(© Quicklime " e (©ehge

(D=) Slaked lime = | (D)ﬂﬁegq e

"~ ( Space For Rough Work)

(9) : ( Turn Over)



DET/CHEM (3)

1

18, The symbol of which on s diffeient 18, 9@ 70 B0l 29RI91 6969 ge1R

from that of the other three according Agy G6915Q geIaoig e 7
to a certain principle ? ' 3. )

| (A) Ch.lorin.é' - R | (A) G(ﬁ‘@@‘i 7,

: (B) Cé_idmiurn - L .(B)-maﬁaq |
(C) Caesium = o o ©) @@émﬂ -'

19.

' (D') Chromium

(D) eglﬁaﬂ S

One milligram of hydrogen will contam 19, 9@ TR 2NEQIERAER 6REBIT

how many atoms ? - - deagEae T
W eomx10® (&) 6023 x 10
tB)’6:.()23x O D (8) 6-023>‘<'102‘- |
(C) 6023 ¥ 107 ) : (©) '6'-.023‘><”1( )'2‘2‘ o
(D) 6023x 105 . _' - E o (D) 6:023 x 10°

( Space For Rough Work) —

(11 - B 3 _ { Turn Over)



DET/CHEM (3)

22, Which one of the folloWing is a 22, ﬁeﬂt@ F21Q. 6Q@S gaae QIQIEA@Q_

neutralisation chemical reaction 7.

© (A) NaOH + HCl = NaCl + B,O

(B) NaCl+AgNO,=AgCl + NaNO,

(C) Zn+H,SO,= ZnSO,+H,

(D) Fe't Cu.S.O ) — FeSO, +Cu

23. Otit of the following in whichcase

chemical change _dpes_n_’t occur ?

(A) Fire wood oven is glowing

(B) Kerosene stove is 'glowir'lg' o

(€) Electric oven is glowing = ‘

(D) Gobargas oven is glowing

QoG a6s ? -

' (A)NaOH + HCl = NaCl +H,0

(B)NaCl+AgNO, = AgCl-+NaNO,

(C)Zn'+ H,S0,= ZnSO, + H,

(D)Fe + CuSO, = FeSO, + Cu -

23. Geqllg g 604 6TEER QIAILER

goeele AATe 29 MF 7.

(A) 910 9f 95218

(B) Gealde cuiq 9928 |
| (0) aéaqER 94 9%PE

(D) 65l19a0HIQ @R, 92T

( Space For Rough Work) -

{ Turn Over)



26.

'DET/MATH (3)

- PART-II -
(MATHEMATICS)

[Take s as 22

{20y elad qeﬁt @ gsm 7 G

[fthe ratio of a pair of cbrre'spbnding_
medians of two similar triangles is

P ¢. then what is the ratio of the areas

of those two triangles ?

A pig

- (Big:ip
)y

27,

" (D)g P

Inacircle PQ 1sa diameter and AB 1s‘
~aChord. PO 1 AB and PO mtersects

ABatKIfPQ 26cmandKQ 801n

‘What i is the length of ABincm ?

(A)' 10
(B) 12
(€) 20
(D) 24

26.

if nothmg else is said about it. ]

22
7@49@@ Q9 |- ]

9R% aqs @%‘Q 2igqe Al ‘-
TR AQUS p:g XM, @Y
GQEYHR 6ABTTA AGAIS 6768 ?

(Ajp:q

O g

- 27,

(D) ¢ : p?

6QITN 988 QA PQ 99° 4B 4R

QU1 PQ L AB <@ PQ 8- AB @ 685%g

K1 <% PO=2662.8. 6 KO=8 62.d.
24, 6669 AB 6 69 6@60 6271, 7

(A) 10

(B) 12,
(C) 20

- (D) 24

(15)

( Space Fof -Rbugb_ WOrk )

{ Turn Qver ).



30.

K (A)

3L

If - (4x +xy) (Bxy - yz)"12 s,
What is equal to?
3o
4. 5
4 5'
(B) 5 6 ‘ \
5. 6
R (C) 6 or 7
6 7
(D) 7oryg
The ratio between two numbers is

- ®)

5:6and their L.C.M.is 150. What -

is. the difference - betwccn the
numbers ?

T(A) S

(B) 7

©) 8

(D) 10

31.

{A)

(C)

DET/MATH (3) .
(4x +x) ¢ (3xy yz)— 12 5

GQGGR ;Q qie GG‘G@ ?

. Q1
Q'
@l

Ql

R I~ N~ N [T T N TV
|~ v Au s

(D)

QT QU6 FINYEE BGAIS 5 : 6 169
2ol QRCR R:Ql:g: 150 626Q, Al
ZR8 FIY6R QIR 6R66 7

(A) 5
(B) 7
) 8

®) 10

( Space For Rough Work )

. (i7)'

" {(Turn Over.)



© 34

3s.

Given that log8 =p. and log9=g4.
Which'of the following cannot be
determined using the above data ?

(A) log 15

(B) log 16

() log 17

(D) log 18

Ifa:b=5:3, whatis the value of
(5a +8b): (6a~7h)"?

(A) 40: 11

(B) 49:9

(C) S51:7

(D) 55:6

34.

DET/MATH (3)

Q) 28, log8 = p 6 logd = g 1 Q9Rg

PaNg QIR @8 Ggg 6ead Gde
QAR APe /1T ? '

(A) log 15

(B) logl6 .

(C) log 17

(D) log 18

35.

QIR 6G68 7

a:b=15:3 6ce6n,
(5a+8b) : (6a -7b) @

(A) 40 11

(B) 49:9

(©).51:7
(D) 55:6

| (Space- For Rough Work') T

(19)

{ Turn Over )



DET/MATH (3)

37. If log2 =aand log3 = b, whatisthe  37. 10g2~a qge 10g3 b easa,

38

(A

value of 1"o'g_1-;--?'. |

(A) 2a+b-1
(B) 2a-b+1
(C) a-2b+1

(D) a+2b-1

'Iog 1— a ﬂm sae@ 7

(A) 2atbo1
" B) 2a-b+1
(©) a-2b+1

(D) ;z +2b-1.

Which ofthe followmg is equal to 38. ﬁag- 6aud

log3 25+!og350~10g32 7 log325+log350-—log 2 ,
log‘PD . o R !Ogs 125 i _ iy Qﬁlﬁ ?:i
4 *) %
5 - _ ‘
‘ 3
3 B) =
B) 7 4
. i
© 13 © 5
o7 o
(D) li - O 1

( 'S'p'aéé' For 'F?Otlgh' Work.):

(21) ' ' ~ (TurriOver)



DA = =pand b == g, then 42, gue g = pagn b
‘which of the following is true ? 59 cadE g6y 2
() pg=mn+zy (A) pq = mn+ xy
(B) pq = mn ~ xy a (B) pg=mn - xy

(C) mx —ny =0 s - © mx—nly‘=0 |
(D) m£+ﬁy='0 L o (D) mx+ny=0

DET/MATH (3)

_41-, :For what i_n:tegrai value of x, o ) 8 LxQ SGP@\!.J'Q@Q“@‘” D QUG-
- 22“‘—9x2"+10=0‘?-‘ S l“zi“l._éx-gx'ﬂo:d?:
@) 2 f - A) 2
®) -2 o ®) -2
(®) '1 | o | © 1
o) -1 - N I E

=a’=gq, caR,

(-_ SpaCeFor ROUghWOrk)

(23)

{ Turn Over )



45.

Ifablock of wood in the shape of aright

circular cylinder, with diameter equal -
to height, is reshaped into a sphere of -

‘maximum size, what will be theratio

of the surface areas of the original

shape and the new shape ?

(A)4:3

"(B)‘3:2

46.

(C)2:3

(D)3:4

One dlagonal of arhombus and a su:le

of it are equal in length. Ifthe area of

the riiombus is 7243 o, what is its

: perimeter incm. ? -

*(A) 36

(B) 48

(©) 54

_(D) 60

46. 9

DET/MATH (3)

45. 6QIEN QR Q8 §fie dAR9a aIgT

B89 Q0 H90 QT 8 AF6) AR |

U] 98 9eed 6oine 2iq6 G949

g 990 F6R, Y9q A9 AAg QYR

8 96Q QgR 62RYI ANY YYCRR
CHETRN UGG 6R6E 7

(A)4:3

4-(3)3:'2

(C) 2:3

®)3:4

% Qaqa esn@\'l 9@9 e@m <28

NR QIR 6T6Y a2 QAIR e N2

68gae 72V3 @d 6a.4. 626m, w2IR

- gdge 6960 6Q.8. 7

(A) 36 .

(B) 48
©) 54

(D) 60

" ('Space For Rough Work )

(25)

. { Turn Over ) .



L sera it

49.

What is the ratlo between the area of -

-can equllateral trlangle and thatofa
o squdre if thelr perlmeters are equal ?

50.

(A) 443 13

(B)4:3\/3 -

(C)3V3:4
(D)3:443

‘What is the mediah ofthe odd mimbers

that lie between 25 and 61.? - -

(A 42

NPT

N (D) 45

- 51,

What | is the mean of the mtegers from

.,—8t0+14‘?

A7
®)6
4
(D) 3

DET/MATH (3)

49. aaie adatal 8 6AEN QeQlg

898 6 aiS adcaga e@tgma
29AI8 6960 ? .

(A) M3 23
(B) 4 : 3V3
(C)3V3:4

)34

50. 25 6 61 qRNea aqq PHIARER

S1.

Fllue GQGG‘ ?
(A) 42
@4
(4
(D) 45

-8 0iq +14 adie gdasuares
RIS 696 7 A
(A) 7

®6

(C) 4.
(D) 3

- (-Space For Rough Work )

(27)

" (Turn Qver)



0321

(A)

()

(D)

. 55,

Wthh of thc followmg does not lle _

(A)

(B)

©)

(D)

g[-b- Alw

OO
—

47

135

| By A2

O
—_

|

_.
o)
=

o O

=]

. between 3 and = 4

A

" 54, Whatisthe ratlonal equ1va1ence of

54.

- ®)

©) 7z%

55':. '

f

DET/MATH (3)

0-321 @ €878 AIP 6766 ?

A)

(D)

(A)

(®)

- (©)

(D).

31

- 40

49
60
61
80

91
120

- U*.

?ié.llIQEH a@@ ?

(29)

( Space For Rough Work )

(.'T urn Over }



58

'(A)

1f log,, p* =a~10g;;q* then what

‘is the value of p‘2 7

,3 -

l 0“({

®) 7 0-“

(C) ¢* +107°

(D) ¢* - 107

- 59.
of the.

If xt - 7xy +yi=0,

%(iogx + log y) ?

(A) log(x - y)?

(B) log(x + »)?

.(C) log 3

(D) log x;y

then which
followmg is equal to:

5.

log, P =a

. DET/MATH()+

-log,g’. 6268, e

| ?119165?6@ ?

- 59,
| —(logx+10gy) qsz Qe 7

(A

3

0""(1

(B) ¢*. 107

(C) ¢ +107

(D) ¢* - 107

X - Txy + y* = 06268, 999 sade -

(A) logx -

(B) log(x + )

(C)',mgx?-’t

X+y -

- (D) log™5

" ( Space For Rough Work )

L (31)

{ Turn Cver ) '



DET/MATH (3)

62 The product of two consecutive 62. q_a@ qfie u@lqa qaq%ma qem@,j

. posite even numbers is 224, ‘What 224 626w, 64 QI ‘?I(‘;I'-IQ‘Q'I agsl
is the o‘dd‘.ngmber _bctween them ? QeI 660 ? -
Cwus o
® 13 S (B) 13
©is e (C)_ 15 |
o7 YR

63. Vrl;he hypotenuse of a right-triangleis 63. 1@ QRIS @@’QQ. ada 68l 20 41,

20 m long. If the difference between =~ @ 2gy 9@ QIga sddia aEiqy 4 4.
the lengths of the other two sides is 626@, QQQQ ﬂg@ﬂ QI?_Q G@E]ll 6QE0

-4 m, what is' length of the shortest R - T ?
side in metres.? S

.(A) 12 R @A) 12 |
@ ®) 10 -
©s o ©s
REs S o6

( Space For Rough Work )

(733 ) | - L (Tum.'O.ver )




66

67

‘What lS the dlscrimmant of the

equatlon _

ax? +(c+2a)x+(b+c) 0‘7
(A) a* - 4ab + 4¢?
(B) ‘@® +4ab + 4c*

(C) 4a* + 4ab+ ¢ "

(D) 4c® - 4ab + &

If one root of the. equatlon
*2 - px + ¢= 0 is two times the other

" oneythen which of the followmg is

o !true ?

| '(A)'P?-9q=0

B) 20*-9g=0 .

(C) p+9g =0

(D) 2p*+9¢ =0

606.
- ACNRQER JENR 66T 7

 DETMATH)

ax’+(c+2a)x+(b+c)=0

(A) & - 4ab + 4cf

. (B) @* +4ab+4c?

67.

- (B) 2p*-9¢

(C) 4a* + dab+c* -

(D) 4a? - 4ab + ¢*

X -pxtg= Ocaﬂmaaa caIeg a®
L ,'aeqea qgeqa eqem Qﬂﬂ eaa@-

OG??,

@ p-9g=0

€) F+9g=0

(D) 2p*+9¢=0"

)

~ (.Space For Rough Work') T
. (35) - (’I"umbvgr)



70

“71. In AABC' '/ABC is arightangleand

'BD L AC.IfAD= acmand CD=bem,

.In ani examination, the mean mark of
the boys of a class is 87 and that of the
girls is 3 less. If the boys and the girls
in the class are 18 and 12 respectiv'ely,‘
what is the mean mark of the wholc
class -

(A) 84-4
(B) 84-8

(C) 85-4

(D)JSS-S

70.

DET/MATH (3)

N UNCQ 6AITY . 6gEER AR

. QIRRAIRFER  KALA  ARMNAIR 2R

71
- "BD-LACY 198 4D =a 6d.. @

87 NG QIRQIIAER AAQA FIRAIT
gRi 3 Q61 96 Q9 6gaIa QPR G
QPR QY Q2GR 18 6 12 681N,
606Q €Q7 6gdla Aag JAwR
GAAS ARG 6R68 7

(A) 844

(B) 84.8
(C) 854
(D) 858

AABC 68, £4BC QACRIE €S

what is the length ofB_D? CD=b 6Q. A 949, 6069 BDQ e@m_
| | o ) §Ree 7 -
@ (a7F @ Javb ;
(B) Ja+vh B) Vasdb
(©) faxB ©axs
A(:D) m (D) Jai+p?
: (SpaceForRoughWork) A

(Tun Over )



74

Givenf:x-> hiéhe’st prime factor (;f
x. Which of the following isthe. =

range of ‘/’, when the domam is

"{12 13 14 15, 16}‘?

;"3(A) {2 3, 5,7, 13}

BRCRTRECRELTS |

(C) {3,13, 7, 5, 8}

DY (35 T, 5 2}

75.
and y do’ not satisfy the equation

Which of the followmg values of x

"log x - 2y =0 whena =22

(A) x*"l y 0

(B) x—4 y—l

(©) <216, y=2

(D) ¥=32, y=4 =

75,

DET/MATH (3)

99 ¥R frx-> xQ ees &R

. QE919e 1399 6960 FQ 8gie, 9@

 Q@Qa {12, 13,14, 15, 16}-94 ?

SR

" (B) {6, 1'3,‘7;_15, 2"

,__(C) {3 13 7, 5 8}

;-(D) {3 L, 5 2}

* 8y Q Bag 6odl ale QIQI ARRE

" logx - 2y = 0 @@ g\o m@ esaao'

a= 2?

o (A)- x=1,y=0

® x4, y=1

= ‘15;“?:“5‘,:;_'-:

©x=12 y=4

" ( Space For Rough Work )

(39)

( Turn Gvei™y”



" 77.(a) Pressure exerted by a body of

mass 20 kg supported by a base~
area of 250 cm? is 8 X 10° N/m*

(h) Liqmd pressure depends on the -l

shape and size of the container.

(c¢) The pressure at a point within the

- liquid depends on its depth from

: th¢ surface of the liquid._

(A) (a) _anc_l (b) are correct, (¢) iswrong
(B) (b)and (c) are wrong, () is correct
-(C) (b)is wrong, (a)and (c) are correct
(D) (a)y (b)-and (c) are correct -

78-.Th‘e“wei‘ght of a stone is 100g in air.

“When it is dippéd in kerosene, it.

weighs 75¢ and in salt solution 60g.
The relative density of salt solution
with respect to that of . kerosene
would: bt:

Ay 16 .
Byel
©26
(D)60 -

DET/PHY (3) -

77 (a) g 20 kg Qg@ 49 9gQ 250 cm?

2R AUEQ AYsM 43 914 629
8§ x10° N/m?

(b) So% AQIER QT U (OI@)Q equ@
‘6 URNQ [ACQ 090 Q6a |

(c) 9o F1dy 99 Gg6R 9] 919 9aR
aQldia 999 GgR GR1ael AC6R
Gea @ea o

(A) (a) 6 (b) OR, (c___) !
(B) (b) 6 (¢) @R, (a) 09
(C) (b) QR (@) 6 () BR -

—'(D) (a) (b) a (C) OQ

78. %16@ AN AGER Baa 100 @I‘ELEIGG‘ l

oI121q F6adasa gFIRsm 6eQ 75 IR
9g° Q4 UIdsa QPINER 60 QIFL g9 | |
606 QGQI‘EIQ Qg Qeaidia Isale

‘ ;:QIQ@I 628,

- (A) 1.6
RO

(C) 26

D60

(' Space For Rough Work )

(41)

( Turn Over)



DET/PHY (3)

80.Which one/are of the following 80 a6qIg ?IQJQ_ SQ@Q/GQ@Q_@Q laliie]
A .represent(s)_.gccé{g;tgtjq{; AP qera 21

Vz“_ifzf I R 1;2l.—1,z2
. 23. .- :-“:, ,. S CeTott s (a)

(a) .

(0 v; u

- (A) (a) 18 wrong - (b) and (c) are - (A) (a)gm, (B) 6.(¢) GQ |

correct

(B) (@) and (c) are correct, () is (B)(a)(3 (e 6 RO1RR
wrong L 7 ' _
T e Q) ()0 (a) BBy GR-- -

(C) (c) is correct (a) and (b) are _ g :
MR e D) (@, (BHBE@R . .
(D) (a). (b) and (c) are correct |

i+ e (. SpACE.FOF. ROUGH WORK.). .. oot .

(43) o - . (Turn Over )



. 82,

83.

What time would be 'requi.,red to fill
completely a tank of 18,000 litres

capacity by water pulled from adepth -

of 7-46 m by a motor of 1.5 H.P ?

“(A) 10 minutes
(B) 15 minutes

(©) 18 minutes

(D) 20 minutes -

If two bodies A and B of masses M|

and M, respectively (M, >M,) have
- the same momentum, then

(a) Energy of A> Enefgy of B--
(b) Velocity of A > Velocity of B
(c) Energy of B > Energy of A

© (d) Veloeity of B> Velocity of A

(A) (d) and (d) &re{ 'C.orrgct,’.(b) and (c) |

are wrong

(B) (a)and (b) are wrong, (c) and @

are correct .

(C) (b) and (c) are correct (a) and (d)
are wrong -

(D) (@)and (cyare correct, (b) and (d)
are wrong

82.

83.

 DET/PHY ()
18,000 A6 SNIQAS! 98 CIFER
746 foq o Q88 aggdese
PRRIQ 1@ 1-5 AYVAC! Qm smga@ _
696 Qa8 AIFE 7

(A) 10 &i8g
(B) 15 &de,
(C) 18 @
(D) 20 &6

ge% Qg A 8 B @ @gg QaIgen M, 6
M, (M, >M,) 26 | & 6@@1@@@

. Qreed anIe g4, 6069

(@) AQ 9§ >Baag_
(b) A @ 95699 > B @ Q8694
() Baag>Aadg

(d) B@ 93696 > A @ 9869l

(A) @6 (@) 3R, (46 (©) W

B @6 (b)'éé-i, © 6 =(d) o
©®6E oR., (a) 6 (d) W
D @E@DR ® 8 () 9

| I Spéce For Ffo’ughﬂ Wbrk )

( Turn Ot’er )



DET/PHY (3)

86 A ] 0m long metalllc wire of _\ gﬁz_gm gggg,ég@- §:g!gl1"..0.}fg!‘1gua ﬁlﬂ.@
umtorm Cross- sectlon is drawn S Mg ©lag S18 - 9n6dIses A
mto a 3-0 m long wire; Of uniform | 7 3. 0"516'6)"@91, "G’Gilfalﬁ;il?'i‘ “geR o199

cross-section. What would be the : gBeal c‘;lqn\ @IQGI g@ggma GQG@ gléq
_rr_es1stance._of~ the new \wire com- = GQQ 7

pared to.that of the original wire ?
(A) 3 times (A) 3 g6
©(B)9times - R
(D) = tlmCS 1
(D) 5

(47) B { Turn Over )



88. (a) A fuse-wire is made of an alloy

- of copper a and tin,

(p) The house-hold w1r1ngs are
parallel ones.

(¢) Outof the two bulbs, the one

~ ~which has fillament resistance
- more, will glow more brightly.

(A) (a) and (c) are wrong, (b) is -

correct .

(B) (a) and (b) are correct, (c) 1s-

wrong,

(C) (a) is correct, (b) and (c) are
‘ wrong :

(D) (a), (b) and (¢) are correct

-

DET/PHY (3)

- 88..(a) Ga] o ofl 8 Baq e Y-

2iIgea ’@ﬁ@ |

‘- (b) Gl@ GIQQ°§[@Q deieale aqae -

k?JGG‘I

(©) ge8 cdqide Q@mé@ gie

SRR GE6AI IR, IR BRIE

QAR 6210 2R |

(A) (@) 8 (c) @R, ()R

(B) @6 (1) 0%, () 4R

(©) @0R, ME@OW

(D) (@), () B () OR

( Space'For Rough Work )

" (TunOver). - S



90 A force when actsona body east-wards;

~‘the body is displaced 40 m. When the’

_ force of same magnitude acts on the
same body (from-its new . position)

south-wards, the body-is dlsplaced]
30'm. The magmlude of the resultant

dlsplacement of the body would be

(A) 10 m

(B) 50m
©7m
(D) 1200 m

91 The momentum of abndy of massr‘
2kg changes flom 80 kg m/s to

50 kg m/s. The changemlts kinetic
-energy would be: S

(A)-625“-"J

L B)Y9I5 T

(C) 12005
(D) 16007

DET/PHY (3).

90.661:N Qg AU6R 9@ JI 219Q geaIal

- RBQIg e1el 40 Ace 3gIde Rl | g
Qge 9OF 2egieq 64 adnigq 9@

ofa Ga Zigg denla @dQq 9ge

30 e G‘QIG@ eual 1 G@GG‘ YR
GQ@IQ‘I SRIag GQQ L

(A) 10 deq "
v(BYSOdeR
(C) 70 deq .

(D) 1200 AsQ,

91 GGHGN 2kg Qg@ SR ega Qe
80 kg m/s @ S0kg m/s §' 989aQ '
' GQGER GEQIQ Sal=p ‘81@@ GQQ@Q 69Q

- (A);’f_sgsm

(B) 975 g8

| (C) 1200 gR
(D) 1600 §R -

(Space For Rough Work)

{ Turn Over)



94. For what properties, mercmy is used

: (B) (b) and (d) are correct, (a) and (©)
.. .. arewrong. .

: ‘.(C) (a) and (b) are wrong (c) and {d}

as the thermomemc substance ?

(a) Due to its hxgh thermal expansmn

(b) Due to its hlgh densuy

(o) Due toits greater SpeleIC heat.

(d) Due to 1ts pmperty of non-
stlckmg to glass

(A) (a) and (d) are wrong, (b) and (c)

are COITGCI

are COITCC[

..(D) (b)and (c) are w_rong, (a) and (d)

95,

- are cor:rect

‘What would be the temperature of
- the mixture when 2 litres of water-at
10 °Cis mlxed w1th 5 lltres of water 4

atSOC”

(A) 35°C

.(B) 45 'C

A

DETIPHY(S);
adlqeor 6‘@@ GG?@ qa GQ!Q@IQI@, '

QIS ARER: QHQQIQ G?QHE]I\‘J ?

(a) 210 24Q cIa19 gURE 98 eRIg
(b) NI 2e ALS! 6RIY-

 (c) N2 aa{e"@@e-eldsﬁuﬁ

(d) »:1@;[ RIO6Q m:@Qe@ "elié" |

| (A) (a)@(d) @ﬁt (b)G(C) OQ

(B) (b) G (d) OG( (a) e (C) @.ﬁl

- ‘__(_:C),’(a)l(? (b)i'i@@;- ©)6 (d)j_ ol

) ® e_(c_)'_quni, ia)[e_ (d) o]

95,

10°C enemga Qeq 2 mga em@ 80°C -

Qlaaiel Qﬂﬂ- 5 QG‘Q o faaen

. 960 GI0IGI 6960 62 ?

@ 35°C
(B) 45°C

©y60°c - o e

_ @wc.

" ( Space For Rough Work)

( Tu.n Gver) .



97.

Two eiectrlc bulbs P and .Q have

flilament resistance in the ratio of

B ~1:2. When they w1ll be connected

A)2:

98.

in parallel to the same source, the
ratio of the. powers dissipited by

“them shall respectively be

A

| (_B)l:z'

(C) 4 1_

O 1:4

A house with mains supply of 220
volts uses five fans each of 100 watt,
an-electric, iron of 500 watt, five

bulbs'each of 20 watt, The minimum
capacity of the fuse wire to be used
at .the mam swztch of the house
, sh ould be . :

(A) 15 AmpereS- =

(B)_ 10 Ampe_res -

- (C) 5 Amperes

(D) 2.-5 Amperes

97,

DET/PHY )

P 6Q o0 enle GRIEAegEes

JE6QING BQAIe 1:2 26T 1 698 R

. 9NQY SR ARALAER IR 689169
QY 9 RIS R6M AN IGTR AIGIR

98,

AL AAIQET AFAIS 699

Aay2:1.

B)1:2
)4:1

(Dy1:4

6915t D0 220 CRAINGR T4E 6N

6208 6Q%a6a 100 gig Qdg 5§
a8, 500 GIo! 38Y IR AEARER g,

20 g, S8 5C eAR Q196 629

T aiel 994 6960 FIeR EI}{Q Q8 qeea
@49@@ 62ql aqegie 7

(A) 15 afioa
(B) 10 it
(C) 5 2fas,

(D) 2-5 EII?"}EIQI

" ( Space For Rough Work)

{ Turn Over)



- DET/CHEM(3) .

3. On heating 10g of calcium carbonate 3. 10g). 9IRG0A FI6TIEFTG 20Y F6R
how much carbondioxide at NTP would - AIGR 919 6 BT FIGIER 6R68 RISR— .
be formed? . - . | | QIRERAIRE AR 629 ?

B 1121 |

L (B) U7 A

—

(© 448l C©4sh

) ‘-.-(D) '2‘24'f N __(D) 2:24 @ :

4. Whi'chlpne'w_as discovered. by using . 4. -‘_ﬁag; AMER QGYD MICAE UATIA |
perforated cathode in the crooke’s . GReIq 696% AIBYE 6T 7 '
(A Electron - (M) a6ReER
(B) Praton = Ca (B)6gIeR . i
(O Newron . ) e

BT —

(2y. o ~ {( Continued ) '



7.

DET/CHEM (3)

(a) .Hydrogen has the_highest calériﬁc ‘

value as compared to that of other
gaseous fuels,

(b) It can be obtained cheaply from
‘waler. . '

~ (¢) Ttisnotusedasa ,dbmestic fuel due

to its explosive nature.

(A) ',(a) and (b) are correct and (c) is
wrong ' .

(B) (b)and (c) are correctand (a) is

wrong

(C) (¢} and (a) are correct and (b) is
wrong -

V(D) (a), (b) and(c) dre. correct

(@) 2RURY SHITIG QAR RaIea
. YREQERRR miemlawlm e
- aee b : | .

(b) agI6a <2 99g gge al

QUGS |

() 92Ia Q6iaq ddeqlg welg -
deRin - QeR 96T MR
G oF 1

Y (a)@(b) Oﬁi e (C) @ﬂ

(B (b)@(c) o% a« @ QR

(©) (c) 6 (@) OR 99" (b) QR

D)@, B)6 ()R

('Spac_e" For Rough Work )

( Continued )



" 'DET/CHEM (3)

10. Which sequenc-e of the scientists __ 10 Q‘aﬂl@ﬂ 961@1%1@@61 ﬁﬂl@a 2IeqIo

associated with the - sequential S92 @8 e@mgg\wgmgg ega @qg _
discovery of the sub-atomic pamcles _ o ?
18 correct ? : o

- (A) .Thomson-Ruthérford—Gdldstein- (A) E’JﬂQlG‘—Q&JG)GQTI@ Gglm@ﬁla@_

_ Chadwick’ | L Qi'a'(g@
(B) Rutherford—Bohr Thomson- . (B) 9206ME-6Q120-21QR
Millikan _ _ CAReia
(C) Thomson- Goldstem—Rutherford- | () aﬂQQ—SQIQQQIG!Q—QEJQSEF!é—
Chadwick . S : o QI8a
(D) Mllllkan Goldstem Bohr- (D) ARQIG-69IRLYRR 62~
Rutherf()rd . . | | QAUASTIE -

11. Tn the modern periodic tablcj;the number 11.21yRe adyia '9515@'697]'@9@@?@

of valency electroris of the elements - | areIee SIGGRQ\SE'Q AL
‘ (A) increases alo_ﬁg agroup - : | . (A) 9@ gdse Q& celag
~ (B) increases along a period - . | (B) 9@ Oﬁqlﬂéé | 6LI@&AN
- (O) décreases alon"g a éro_up | (C) 9@ gasa QIQI GQI@J&IN
| _(D),decrea'sés along arper'iod o .. (D) 9 faszimsa ngl :SQEQEIM;

~ ( Space For 'R_oughg Work )

(6) - o { Continued )



DET/CHEM (3) .

13. (é) One molecule of Ammonium . 13. '(a). \ﬂSﬂlﬁaﬂ TLETAR I 2
_ phosphate. ..~ : ' ‘ - '

' : L b) 6aI6100e GINeRISHa Qad
(6) Two molecules of Potassium () s q B 3 R gals

dichromate L ad

* (¢) Three molecules of Sodium silicate (c) 6QUGDS dRMEQTR T6qIT 2q
.Considéring the total number of @QGQ]@ g'g';@q@‘ ég@ga 691G
atoms in each of the above cases, T geng a9NIg 88 - o8 Geqre

- which one of the following

_ AdQ 659 |AT OR ?
. sequences is correct ? S _

& abe, R (A)ab_c
 ®bea Bybca
(C)cab e | (Cycab
(D) None of these | _- o  (D)vagg e@laﬁ@_aefé: |

-

- (Spac‘e For Rough Work ) -

(8) . o (Commuéd)



DET/CHEM (3) -

16.

Which one - yields least number of
hydrogen ions in aqueous solution ?

- (A) Carbonicacid .

_11?

(B) Sulphuric acid

~ (C) Nitric acid -

(D) Hydro-chloric acid

(a) Sodlum Chloride is avallable asa
mineral.

' (b) Sodium Chlonde is used as a-

medicine.

(c) Sodium Chloride isavailable only

from sea—wate,r.

(A) (a) and (b) are 001rect and (c) 18~ |

wrong

(B) (b) and (c) are correct and (a) is

wrong

(C) (¢)and (a) are-correct and (B) is

WIOng

(D) (a), (b) and (c) are correct

16

17,

6R6E ARG g@@e;a Ql‘c'a":?ﬂ QAR
RIDCLIEER ?JIQ&? q&- G?S@ ’?

(A) 9|6Q19Q ade

(B) qm‘q@q 4&@@\ ~

- (C) flagR 9de

(D) 2REBIERITR q@e

(a) sq@gqi.’ cRIIRR $d8g6a

'aamqu SQIQEII*Q' b

(b) 6QIBRA salam@ @t&uqeg
Qq@g@ 24 |

' (©) 6QIBLe 6FINAE é@@hﬁga@

Rg QUAKK 6L1Red |

() @) 0] 99 () a8

((B) (b) 6 (1) 0R 99" (a) 4R

(©) (©) 6 () 0% 1" () 9

(D)@, )8 (o) OR

o Sp’a‘b"e"?For'Ffo'ﬁgh‘-Wérk Y

N Continued }



20.

- (a) This is a combination réaction. - *

DET/CHEM (3)

Cu+ L= Cl_ﬂ;g

() This is a redox reaction.

(¢) This is not a redox reaction.

 wrong

» (B) (a)and (c) are correct and (b) is

 wrong

(C) only (a)is correct

-~ (D) only (&) is correct

21.

"E where -

(A) (a)and (b) are correct and (c) is -

 ‘E’ isanelement and “m’ and ‘n’ carry

their usual meanings. E will have

(A) m number of protons and n number

ofneutrons R

(B)rn s number of protons and m number
of neutrons

(C) mnumber of prOtdnS'ond (n— m) k_ ‘

number of neutrons

(D)nnumber of protons and (m— n)' -

number of neutrons

20.

21.

(B) n Q6@ 6QI6R, 49" m

Cu+I = Cul,

‘_(a) @l @ Q]"Gﬁlf&é‘l goaou 26S" [ |
(b) 2l 99 Sabiow| ge5al. ese 1.

(¢) 421 9@ 6099 goga_r s |

LA @E G0’ (@) 9n

(B)(@) 8 ()0RQ 4% () R

(C)6a@e% (a) OR
(D)enaw (b)) O)
"E 6090 T
‘B’ 99 6410a 2166 9@ ‘m’ @ ‘u’:
(AR JIRTR 218 997 998 |
E6Q 2e
(A) m QN egleo ~qe° " owo-
am S
gl
aqoo

(C) m MR egloo G (1 m)
AHIR. GUTR

(D) n QBHQ 6YISR IS (m— n)

LIS QTR

( Space For Rough Work )

(12)
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DET/CHEM 3

24.

- 285,

(¢) Nichrome is a non-ferrous alloy. ‘
by Anamalgam is an alloy | |
(¢) 22 carat gold is an alloy. o

(A) (a)and (b are correct and (c) is
- wrong

(Bj () and. (¢) are correct and (a).is; ,

 wrong

(C) (¢) and (@) are correct and (b) is
wrong I

(D) (a), (b) and (c_). are correét

(a) LPG is a:primary fuel . B

(b) CNG is'a secondary fuel

(c) Kerosene is a primary fuel

(A) (@) a;ld '(c)rart_: correct and (&) 1s

wrong - -

(B) (b) is correct and (a) and (c) are

. wrong -

(C) (@), (b) and (c) are cprrecf

(D) (a), (b) and (c) are wrong

24.

25.

(a) GeRIF IR 6L IRG 26T | -
(b) BICIRGIC YRS €6S |
(©) 22 SHI60S GRI 99 IRE F6e |

(M) (@ 6(5)08 9 () W

(B) )6 ()0R 9% (a) §R

(©©E@ORW® W

(D) @, 16 () 0” -

(@) LPG @ gizfie aae 26o |

(b) CNG @ {0198 QR6 260 |
() RERIAR I8 QIafia KR 268 |

&) (@) 8(c) 09 (B) @R

(B) (508 <& (@) 8 () 99

(O @, BB () O’

(D) (@), () 6 (c) IR

| '-(‘Space—For Fn'ough WOrk_)_,., —

- (14)
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DET/MATH(3) -

28. Which of the following is a rational

number ?7- , o

(A) 1:0233233323333
(B) 2:3055055055 «oree
©) 3+‘/.§. N

Oyl

29, Which'of the following is a rational |

number that does not lie between /2
and /3 ?
(A) 14
© 16

(D) 17"

28,

Bag 6900 w@ aRsAe Qa2

. (A) 10233233323333 -

{(B) 23055055055 -

Oz

D) 2w+l
29. @09 6R9E 2 8 J3 AR 29Te

@ YQl 9@ QBeaa QeI 7

@ 14

®) 15

©16

(D) 1-7

. ( Space For Rough Work )

(16)

T ( Confinued )



'"DET/MATH (3)

32, Which of the following is equal to 32~ y-iyl g polpt g oty
g : CT T T Gag eeds. ——

x+y+z

xy! +y71ri_—| 4ol . ’
x+y+zo ' Qe QAR ?

(B) xy;‘é-‘ S o o (B) xy'zt
O xyz . ©@xyle

D) 'x-‘yz-" o - o ) x-‘y'zl“nl o

33. For whﬁt valﬁe ofx | | 33. x@ 6R6 Al aiR o
S o2k o L N2E
o V\g) AP, L o 9/ \P/ ..

(A) )

(B) ®)
(©) ©)

(D)

B ~ST. RR VY [¥ Ny N} (PR V| )
&l ules v W

(D)

~ (Space For Rough Work )

(18) B - (Comr‘nued)



DET/MATH (3) -

36, Wﬁichofthé'following is“e'q_ual-to‘ : N (2 CUON A
) p TN - 36. 59 s9RS (x )[ J

2 2\ 4 Tax3 |lx T 4143
(xj - x"f](-x‘? +1+-x3)‘? :

v R

Qe Ae ?

4.

—X
.x2

(A)

x“"—l o o ~ xt—1
w2 | . fL' : :f ‘(B) x% :

X

(B)

L}x2  ' — N 4 x2
e St o _z;(g)?-xf~-‘

(@)

I—x?
x4

o (Spacé. For Rough Work ) .~

( 20 ) S (Con.t'inue&' )]




39

" (D)

40.

(A

| DET/MATH ®

If x+ ais a common factor of

‘x2+px+qandxz+mx+n thenwhat

1s the valug of ‘&> ?

' ’7""9 .
m—p

n-g

htgq.

© ol

h—g
m=p

=543, xR
a’ iff(a) =-5 '

What 1s the vah_le of ‘

@ 1

(B) -2

© 3

(D) -4

39.

RAprtgBxPtmitaaxtave
IRl @Ql@@ GQGF& a Q ﬂl@

69687

(D)

40,

(A)

© g

+

Atg ..
m-p
q

B) wrp

f(x)= 2.x'+ 3, xeR L
a Q689 I8 AR f(a) = -5 689 ?

@A) 1
®) -2

©) 3

-4

" (‘Space For Rough Work)

. (Continued } -

—— . -,



43,

If one root -
x*~5x+¢g=0 is3 more than the =

- DET/MATH@3) -

of “the “equation

other what is the va}ue of q’ ?

w2

44,

(B) -2

(C) 4

(D) -4

For what value of “4’, the equatlons
7x—y=5and21x - 3y ="k will be
mutually consistent and d_ependent ?.

w7

(B) 10

© 12

(D) 15

43, AANGRE P -5x+g=0Q 6T

- a4, ARG Acad! 3 AW G@Gﬁﬂ q@

e GGPGG ?

A 2,

(B) -2

) 4

44

(D) -4

,\k@ 6ad A A Tx-y=5 9
‘21x 3y k QIﬂ‘l@Gla QQ GQQQ

- _%r@ 8 GeiRaR 6269 7

(B) 10

@ 7

© 12
) 15

( Spécg For Rough-::Wofk‘ )

(Contini_:ed }



DET/MATH (3)

47. If eachside ofan. eqhilatcral triangle:
, _mscrlbed in a circle is 12 cmlong,
. what is. the dlameter of the <circle

- mcm" |

- (A) 8-+.\l3":

(B) 8V3

(©) 4+ 3

48,

(D) 43~

Three circles, each of radius 7 cm,

touch each other externally. wa
much is the area of the sectors, in cm?,

| 'enclosed 1n the tmangie formed by
o ]01nmg the centres ?

@ '7

77
® L

(©) 77

(D) 154

47. 99960 ALRYE 1S QARG §RR

'g6eu@ - QIge 6Ty 12 6.4 6a6m,

' Q9909 QUIY 6866 6.8

A 8+E

48.
QR 90Q9g Q@8gd @ed@ |-

(B) 83
(C) 4+ 13
(D) 493,

7628, @18 QU FFe Beql
6eQ

. ey sqiel QQQIQIQI Aga LIRS
§es dkea a@@g LRIRNYFRR
. :_’,,esagm? es?e@ Qd. 6. @.7.

@ 7

®

(©) 77
(D) 154

" ( Space For Rough Work )
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52. f

| DETMATH 3

“the equatioh al

ax—c  m+l

has roots which have equal absolute -

~ values but are of opposite sign, what is
the value of m’ ? '

a+b
(A) a—b

a-b
a+b-

(B)

(©) 2a+b

~a—-b
2a-b
a+b .

(D)

53. What is the area, in sq.om, of the

largest triangle that can be inscribed
in a semicircle of radius 3-5c¢m ?

— hx ,,;.;‘f o

52.

-bx _ pp-|

| ANREER R

ax =c¢

. QRARIa QAR AIg (R Q6 FUNS

(D)

33.

09 G8ig 1 6069 m Q AIR 69687

(A) a+b

(B) £

©

a+b

35 6Q.4. eqmm e a@qaea
Ei@m%l@ Qe g@@a Gﬁgﬁm’ GGPGG'
od 6Q.8. 7

. ® 7;
- 9%‘- | ®) .'9;%* :
(©) 12;1 . (C)lz%

" (Space For Rough Work) B
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DE_TJMATH 3

56

57,

For what value of 'K,
~ 5x%+ ko - 2

hasx -2 as a factor of 1 1t_ ?
Ay 4

®) 7

(C) -4

(D) -7

If4x3— bx2+ x_-'_-"'c leavesremainders:

56

0 and 30 when divided by x+ land

2x -3 respectlvely, what is the value

. Ofc b?

(A) 1_17-.
@) 9
(C) -11

(D) -9

57.;

ka e@a e gl

.x—5x2+kx ZQx 2*:16? -
2Q12e 62 ?

A) 4

(B) 7

«C) -4

(D) -7

a8 4x3 - bi? tx-cqr+le 2% -3

_ QIQ! @l‘a GPGER @IQG'SI@I ﬂ&llﬁi‘Gﬂ 08

30 QGQ GQGQ .y °3 ?HQ 6@6@ ?

(A) 11

@) 9

{C) -11

(D) -9

-( Space For Rough Work )~

~(30)

* (Continued )



" DET/MATH@) . -

60. A bag contains.one-rupee coins,.  60. 6QISY ARER YGSFI €Ki, 50 9RE

50 paise coins and 20 paise coins and qel 6 20 gad gla. IR AgAe

~ theirnumbers are intheratio 3:5:8. 3:5:8 1 2R60 o 619 142 o

61,

. (A)

- (D)

[fthe total'money in the bag is 142 {;Ernq(a aﬁ.l 2\, 666 ﬂ@fﬂ@@‘a &ellg
rupees, what is the total number of -~ qeqy gage ¢ ’ -

coins in the bag ?

(A) 240 S w240
(D) 320 | | (D) 320
oni3n~ 3> Whatisthe valueof 61 5.5, =3 S¥0 5
w ., - S QIR 6RE6 ? o
3m* +mn ' o
' i
1 Ay 5
7 R
1 - B g
-{B) 5 :
. © 13
(_C_) B .
e D 13
15 '

( Space For Rough Work)

(32) N o . (Comi'n;;ed')



i)’E}fiMA*fﬁ‘(ji -'

64 A car travels 120 km from Ato B w1th:

65.

i speed of 30 kmy/hr and retums back

with a speed of 40 km/hr. What is the
average speed of the car inkm/hr ? -

(A) 35

(B) 35

o] e

(C) 34

B

‘What is the value of x in binary form
i (), + (1001), = (101), 7

(A)_(lllO’Ol)é

| " (B) (110101),

(C) (100111), -

(D) (101101),

65,

64

5o GDIQ A @_B agie 120 Yo

. @“QGIE@‘ mlg@ 304, ﬂ' s@aea R

Q8 BQ 4 adie Qeigd 40 ..

| 6RE6a 6Tr@ @RI | 6660 FIGEA

20nlo] QI@IQ 2Q121Q Q@IQG’ 694

o GGPSG‘G??I ?

(A) 35

2
(B) 35%

(C) 34

.2 -

(%), +(1001), = (101), 6268, x Q

AR e906Q 6@6@ 7.l

(A) (111001),

((B) (110101),

©) '(100111)2

(D) (101101),

" ( Space For Rough Work )~

(34) .
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‘D}ﬁ}i’w}&"rh @

68. What is the bmary eqmvalence of the

10- basc number 43?7 -

(A) 101011

" (B) 101101

69.
o nght circular cylinder is mcreased by
10 % and the height is decreased by
" 20 %. What is the percentage décrease
~ caused in its volume ? .

(C) 110011

(D) 110101

Thc c1rcumference of the base of a

-(A) 0'-_032

(B 032

l(c) 32

-(_D)32_ .

68

ca-eRIe S8 @wd 43@ Qe

ARG6R ﬂl‘c? 6@6e 7

(A) 101011

(B) 101101

(C) 110011

(D) 110101

99 9o Q@ fie Aneqs @i

- oG 10 % G QER NS QeI 20 %
QAR 626M, ITIQ AUIAGT I69PI 6960

29 9199 ?
(A) 0-032

(®) 0-32

(C) 32

(D) 32

" (' Space For Rough Work )

(Cofnfirmed ) o



DET/MATH (3)

72. ‘What is the smal]est value of - the 72 4x2 +6x = 3 0959"?‘3”519 @Q@ﬂ flig
ponnomxal R o 7 g@g@ 3 _ ,
- 4x2+6x 3‘? S

'. u". -.T
g | —

o |

(B) -5

© 3

b |

() -31 o ‘

73.-_F01_"Which of the following values of 73.p@ @99 6ed e ag
Cer P4 px + 252+ xP leaves aremain- - . ¥ 202+ x° @2x+1@|a1 @msm,
“'der'2p' when divided by 2x+1? 2 atfasm Qge 7. |

(A) 2 (A) 2;

®) 1 R

() 2 (© 22

__',7.'_"_ .- . . 3
e oz

B —

; ( 53 ) : ( Continued )



DET/PHY(3)
PART—HI
" (PHYSICS) -

76 (@) During conduction of heat the  76. (a) Q194 gQOERIL! quea e1g
- particles of the conductor only  QoRd 696k SIRa SdRIgEe

transfer energy to the neigh- geiede ceam 6999 68
bouring ~ particles’ without

changing their positions. acglan- aae ﬂmﬁi QQIQ -
- o S 'rell?.ll@;l :
(b) ‘Electrical r_esi;stance of a cylin- 7 _
drical conductor is- inversely (@) 9@ QReq 2IgEedY SR
proportlonal to the square of its gaQieia gasan olgia Quaisa -
radms .

o Qda glsmIngalE aee |
(c) Rise of temperature in a metallic L : ‘

conductor decreases its elec- _ (c) __Glaﬂlgl q@ 6@6@ ui@Q aﬁmma :
' trical conductivity. ) o 5@“@ EIQG‘QG‘QQ@I EIG-VGQIQ&ANI _
(A) (b} and (c) are correct (a) is | (A) () 8 (c) OR, (a) QR
wrong = o . | _ IR
(B) (a) and (B) are . wrong, (c) is (B) (a) 8 (5) 98, (c) OR
correct _ . L
(C) (b) is wrong, “(a) and (c) are (C) (b)) e (@ B (0) OR
correct ' _ . ' i -
(D) (a), (b) and (c) are correct | _ I(D) (‘f)’ (b) 6 (‘_c) OR

 ( Space For Rough Work)

- (.40) ' T ’ ’ ( Continued )



DET/PHY (3)

.

Dis’ij'la'c_:ement' ’

A

v

Time

In the g'iven graph

(a) BC, represents umform veloc:1ty

(b) AB, represents
ve10c1ty

non-uniform

_,_..'__(c) CD represents unlform accele—
R ratlon =

(A) (a) is correct (b) and (c) are; |

wrong -

(B) (a) and (b) are correct, (c) is
wrong

(C) (a) and (c) are wrong, (b) is

- correct

(D) (b) is wreng, (a) and (c) are' -

..correct . it i e

1

Y.

aan

(a) BC—QQGQG@Q@. Q}ﬁ‘l@ﬁ 1k

®) AB-aGm eaeea@_ q_stas |

'(c) CD—qqsaea Q]Slﬁl%? |

a (Aj' (a) 6s,"<b') _@- (cﬁ @ﬁl S

(B) (2) 8 (B) BR, () QR

O @8O »HOR

 DYBW (@B

( Space For Rough Work )

(2)

(Canrfnued) _



DET/PHY (3)

correct

| . Di -
81.(a) Always velocity = % 81.(a) @44l adead =%ﬁ%
| elerati ‘ < Q¢ 9A6Rd
(b) Always acce;eratlon (b) aSel qad = —
_ Uniform velocity ‘ _ B |
| Time o , _ afeeendadess
o (c) QoG ape =
(c) Always retardation = change of : 21219)
- Velocity ' ’
Time
(A) (a) and () are - cotrect (c) is L (A (@8 6% (c) am
wrong : ' ' ' S
L | - - (B) (c)0R, (a) B (b |
(B) (c)is correct, (a) and (b) are wrong : -(' )(C) Q (é), - ( ); @'ﬂ‘ |
(C) () and (¢) are correct, (b) is wrong (C) (a) 8(c) OR, () QR
(D) (b) and (c) are wrong, (a) is (D) (5) 8 (c) AR, (@) OR

"(Space For Rough Work ) .

(44) i ' (Continued )



DET/PHY ()

84 a). Rad1at10n of heat does not need a
’ medlum aIways o

._-I3I(b) The temperature range of a_

* clinical thermometer is (95
o 110°0) .

(¢) The normal terhperature of a
healthy human body is usually
37°C.

(A) (a) and (b) are correct (c) is

wIong

.(B) (b) is wrong, (a) and (c) are.

_correct . .

V,'-"hf_‘(C) (a) and (c) are wrong, (b) is
. correct- S

(D) (a), (b) and- (c) are wrong ..

85. What quantity of heat is requxred to
convert 10.ml of _pure water. at0°C
‘to steam at 100 °C under normal-
pressure.? 7 :

(A) 1000 calones G
(B) 6400 calorles -
“(€) 10,000 calones o
(D) 26,880, calories , .

.

84. (a) Q0 GGed aid QQ@! ﬂlﬂﬂ@

BISEHR QU BRI

:»—f(b) <% QIgai HEAIAERG SIaRIG!

‘95 ‘cg110 °C ¢1I6Q 8N |

(¢) 98 AI9S 49198 AR QTG
AURESE 37°C AT |

W@EBR ©OW

- ®) ® e (a) 8 (c) o

oy (a) e (c) ea, (b) @@a

R _(-D) (a), -(b);@, (c)_ae@:;-,;;,»; .

8s5.
,5,_100 C @tomgl Q8. Ql‘r‘fGQ (ﬂm

J O emmy e gy

SIT6R Q1 FRAIN 69ARER) ARER

g ol e@eo Q19 aiasia

A 1000 GG?G'HRIQ

(B) 6400 SG‘GQIQ

(€)' 10,000 6363 -

S (D) 26,880 6@6Ri@ - e

(46)

‘ {Continued)



DET/PHY ()

87 (a) We come to know about the

direction -of -electromagnetic
. field created around a current
.carrying conductor by the right
-hand thumb rule,

(b) We come to know about the

direction of motion of a current -

carrying conductor in a magnetic
field by Flemlng s right-hand
rule. .

(¢) When currcnt passes through a
circular conductor, the direction
of the magnetie field is along the
tangent to the circular conductor.

(d) The fillament of electric bulb is

~ made of tungsten metal.

~(A) (@), (b) and (d) are correct, (c)
is wrong

o (B) (a) and (c) are correct, (b) and

(d) are wrong

(C) (b) is wrong, (a) {(¢)and (d) are
- correct

(D) (b).and (c) are wrong, (a) and
(d) are correct

87. (a) 49 agie gfam P10 SIaase

694 G919-gRaia 638 98 g1,
QIZIQ Yo efie-2g Qﬁ‘lﬁl@ foe
7- @,lal @lélg\fl P |

- (b) ‘egj@q @c;qc: geIet e1ag @mm

| 6HQ6Q QY6 BISI 69 Gaig 96

QRAQ, 019! 6Hea 0J& ﬁ’gﬁ‘ﬂﬂ .

ual RA8ga |

(€) 6QERERER IR RIFIQ CRILI
A6 IS 9IRS g9, 9% {ra1a
68IgQ T8 QRIRIG gaemm Qe
QeeQ 2 | '

(d) QEARER INRER Mage ﬁf@lsqsx
CIEAR 2UIGER GUT 62 |

(A) (@), (8) 8 (d) OR, () AR

(B) (@) 8 (c) OR, (b) & (4) QR
(©) (B) 98, (@), () 6 (D) OR

D) (b) 8 (c) R, (@) 8 (d) OR

" Space For Rough Work )

{ Continued ) l



DET/PHY (3)

89.1f the radius of the luriar_'orbif'is X 89, QQ 01 @8 QUITE X' NG 249, 6069

“units, then in 15 days the angular and

linear displacement of moon would be

respectively,
(a) 90°, 7ix |
(b) 180°, 2mx

() 180°% 2x

(A) (a) and (b) are w10ng, (c) is
COITeCt - w v /.

(B) (b) and {c) are wrong, (a) 18
' correct R

(C) (b) is corrcct (a) and (c) are
wrong - e

(D) (a), (b) and (g) are wrong

15 8069 099 6dlda" . 2gian 6 634 |
. dglae ga@sﬂ 629,

(@) 90° mx
() 180°, 2mx

(e) 180°% 2x .

(A) (a) 8 (b) @ﬁl (C) OQ

(B) (b) G (c) QW (a) 0'&?

() (b) 5% (@) (3'(0') w,@l‘ﬂ )

(D) (@), (b) 6 (c) QR

~( Space For Rough Work )

( Continued )



. 'DE_T/PHY 3)

92 F orce 1s

(a) avector quantlty o

(b) the product of’ mass and accele— A

- ration o _ o
(c) Energy spent per unlt mass

(A) (a) and (c) are. wrong, (b) is

correct

.. (B) (¢) is correct, (a) and . (b) are
wrong .

(C) (a) and (b) are correct (c) is
wrong

(D) (a), (b) and (c) are correct -

93.(a): When 20 N"forcsé is applied on a
~ . . body of mass 8 kg, the accele-
- ration produced.is 2-5 m/s®

' (b) Gravitation is an isolated force

(¢) The energy reqmred in lifting a -

body of 5 kg mass to a helght of
- 2mis 100 S

(g— 10 m/sz)

" ») @ and (c)are coxrect__, (b)1 ;s_?\(rong L
.(B) (bYand (c) '.a're wrong, (@) is cori“éct ‘_
(C) (b)is corréct '(a) and {c) afe wrong

(D).(¢)is wrong, (a) and (b) is correct

92. QR 6208,
- _(a) 6 954 sus

- (b) 998 8 9999 qeae
r_(c) ge Nl @g@ euo em@ s@

) @6 té) a8 (b) Béa

 ®ER (a)ﬂ(b)@.ﬁl o
(© (a) 6 (b) oez ()R -

(D) (a), (1-’7)‘(3 (C) oR

93.(a) 8 kg (osm:gm) agq A9 @ sg ,

9069 20 FACR AR JEAUT Q6
. qed 25 ﬂsa/ossseoq 6ee |

' (b) ﬂ@looa N NIRRT KR BET

(c) 5 @6mIgIn g 89 @gq 2 feq

Qeg  QoRel aig 1007 - &3

- 2GR |
(g=10 ﬂgo/@geqsos)

(A) (@ 6 (c) OR, (B) 4R
(B) (b) 6 {c) 9, (a) Oﬁt"_' g
(C) (b) 0=, (a) G (c) @A\
(D) (0) 8R, (@) 8 (b) o

( Space For Rough Work )

. (Corzlfnued) '



DET/PHY (3)

96, -

B

W

A 6 volt —Batter1 K Qmetcr
b B

. In the given 01rcu1t d1agram on
‘ closmg the key. -

(a) The reading of the ammeter -

would be 6 Ampere.

(b) The readmg of the voltmeter

would be 6 volt.

(c) Effectlve Resqstance across A
and B would be 2 ohm.

. .' (d) ‘Effective Resistance across B

andA would bc 1 ohm

(A) (a) (B and (c) are correct (d).

is wrong

. (B) (b) and (¢) are correct, (a) and

(D) (b, () and (d) are wrong, (a)
. is correct

. (d) are wrong

(C) (a), (b) and (d) are correct, (¢)

is wrong

() (a);‘(b)'é (c) 0, (d) qﬁi

o@ 9Gaa 8 _agqi"sra Falkey)q 9%

Q6. - e
() Qﬁgq QIoNIE '6""21@9@ 629 |
U (b) caiRedeq eloqlar 6 cRING

. 88 |

© A6 Bausa qq@ g@eaiu 2 (391

e9aQ 1

(@ BGBA ARACR qqe g@eaw 16A "

629 |
}

 ®®s (c) 0% (a) & (d) ®

(©) (a), (b) 6 (d) OR, (C) @.ﬁl

(D) (), (C) G (d) %1, (@) 0

( Space For Ffough Work)
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99

- reads 4 Amperes. Then the resistance.

" DETPHY (3

. When a resistance wire is connected

to a battery of 12 volt, the ammeter .

2 of the wire would be -

(A)3ohm

(B) 8 ohm

(Cy 16 ohm
- (D) 48 ohm-

100,

~* Aand B are two circular conductors

-..of the same materlal and thickness

- carry-the game amount of current.
~ The numbet of turns 1n 'B'is twice that

" of A, but radius of 'B' is half of that |

of A The ratio of the sirength of

the magnetic field-at the center of

“'B and that of‘A is :i

A 4]
(B) 1:4
.'_.'('C)_-lzz' |
211

Dy

99, <@ g"'&a;u ela@ 12 coing 35 @

QLIIGG‘GH aqe QI°G$EIEGI QQQIQ a@Qea

el afieq aIoNe 4 amsa,a c2Rl |

66‘6@ QIQQ ‘Q@GQIE‘J S‘Q‘Q‘

(A) 3 @q

(B) 8 69
(C) 16 67
(D) 48.6¢

;A 5B @Lae qamn@ aaeiRl | Qes
N9 QOIQIS 8 6AIECH QFg 9e° QAIe
ghadia 8Que es 1e6a geIae
'626R | 'B' 60 'A'Q 9@t g8 919 ca

28, Qg 'B'a QUIAIE 'A'Q ISR 21l
26S | 'B'Q 69960 4§ QARID 6989

Qe 9e° 'A G ERRER ¥ QRN

cRga aneia agale 629,

(A)4:1
(B) 1:4
(C)1:2
™2:1

( Space For H’ough Work)
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LA/CHEM & PHY (1)

PART-1
- PHYSICS

‘1. The SI unit of Gravitational constant 2. Ifa car at rest accelerates uniformly to
- Gis o | ' ‘a speed of 144 km/hour in 20 sec., it
o S : covers a distance of, , -

ES

@A) Nmkg' . (&) 20m .
® Nk . (® 40m
(©) Nmkg® | . (© 40m

©) Nm’kg® . - (D) 2980m

3. What is the dot product of two véctofs 4. Ajaveline is thrown at an angle g with

of magnitude 3 and 5, if the angle ~ the horizontal and the range is maxi-
- betweenthem is 60°?. - - mum. The value of tan @ is ‘
(&) 9.5 ' | @ 1
B) 84 . ; . ® B
© 7.5. | S | (&) \/3
o 52 . D) 2

( Space For Rough Work ) -

(1) . . _ (Turn Over).



7 Choose the false statement : _
The acceleratlon due to grawty (g) P

’ decreases 1f

- (A) -We go down from the Surface of
earth towards its centre. .
(B) We go -u-p from: the 'Sttrfac'e'of
- the éarth. [

(Cy We"gb from equator towards the
o poles on the surface of the earth.

(D) “The rotatlonal ve1001ty of the '

‘ earth i mcreased

. A metallic bar isjheat_ed_'fr_om 0°Cto
100 °C. The coefficient of linear .

‘expansion is 10~ /°K . Whiat'will be the
percentage increase in length ?

(A) 0.01%

(B) 0.1%

C© 1%

(D). 10%

' LA/CHEM & PHY (1)

. If M and R be the mass and rad1us of

earth then the value of escape velocrcy

.18

-GM

B

(B)

’(C) ,/GM R

(D) 1{2 G, R

10 Whlch of the followmg causes more
- severe burns ?

(A) Boﬂmgwater
(B) Steam o
(C) Hot air

(D) Sﬁni:ays

( Space For Rough Work )_*__‘_ -

(Turn Over)



LA/CHEM & PHY (1) .

15.0ptical fibresarebasedon- =~ . - 16.Two thin lenses are in contact and the

o . focal length of the combination is
80 cm. If the focal length of one of the
lenses is 20 ¢m, . the power of the other

lensis -
(A) Total internal reﬂéction_ ) 1._66D
(B) Less scattering” E - (B) 4.00D
(C) Refraction - (©) —1.00D
" (D) Reflection R (D) 375D

17.The capacitance. of a parailel plate ~ 18.The resistivity of a wi‘re{depends on its
capacitor does not depend upon ' | '

C(A) Arcaoi‘theplaﬂte | : - (A) Length-

(B) Medium between theplatcs (B) Area of cross-section
' (C) Distance betweenthe plates (C) Shape
' (.D). Metal of the plates R ( ) Material

( Space For Rough Work?) -

(5 S . (Continued)



 23.Control rods used in nuclear r_e_acto_r_é
are made of

(A) Stainless steel

(B) Graphite
(©) Cadmium
, (D) '_]?l'uj_;o_nil__lm‘_ N

'25. An atomic nucleus contains neutrons

and protons. The sum of masses of the 4
- neutrons and protons in free space is

 (A_) ‘equal to the mass of nucleus -

(B) less than the mass of nucleus

(C) greater than the mass of nucleus

(D) sometimes less and sometimes

more.

»

LA/CHEM & PHY (1)

: _2“4.7-ray.s._ passfng thfqlugh 'a'_st'rdng |
- .- uniform eleciric field get deflected :

(A) in thé direction of electric field

o _(B) in the. direction opposite '_t'o-thé

- electric field

(©) in the direction perpeﬁdicular to

the electric field -

. '(D),. ‘do not get deflected at ai'l._ .

| (Space F_‘or_-'Ro'ugh]WOrfk})

. (Contimied)



N 28. Winch c‘ohﬂgurétion'is imp'():s__,siblé? o

e

oy 4

. 30.M-shell can accommodate maximum -

| (B) 08 nos..of elept'rém.s_.'r‘-‘_;__:" o

" (©) 18 nos. of electrons

) 32nos ofelectrons

oy B

.~ LA/CHEM & PHY (1)

29 The orb;tal dlagram in Whlch Aufbaus |
g prmmple is v1olated is : B

wiy e

e LAl

Y Y 0 N S

3, Whlch ofthe fonowmg molecule fsin |
' llnear Shali’e T o |

& :_,7-‘_'(A) -'}go':-
 ®HO,
-_*”(C) CH,
(D) co,

B (9 e L N . um Over)



EEE s .'LA_/oHEM&PHY(l)-
'38.'L.imestone _is_a'mineral'of o * 39, During exiraction of metal which of
o S ' the following method produces slag ?. -
(A) Megdesium - @A) Concentration o
(B) Caleum - - - (B) Calcination
(C) Sodium ~ e . (C) Roasting
@) Potassmm . . (D) Smelting.

. 40, Cartndges aremade from - .- 4l.Inalkanes, carl_ion'ato.nls are -l‘inke_d‘by -
= _(A)_ :Bron_ze P __ (A),"sihgleCOVatent'boridi-' B
- (B) Brass . - B doublédovalentbond' L
- (©), Bell metal - s © trlple covalentbond '
(D) Nickel (D) single ionic > bond. |
42.H2_C_:CI—I - 'gfou.ﬁ'is-knowdes_ . '43 In Ion—exchange method the exhausted"

.~ -cation exchange resin will be regene-
~ rated by the treatment with

-. (A) mel - - @A) moderately concentrated acetlc -
B R - - acid o
(B) Propyl L (B) moderately concentrated oxalic
T o - acid - : S
(C) Methy.l‘ ,: Lo o o (C) ' moderately concentrated phos-

' SR . phoricacid ' -'
| ®) Ethyl B - _‘ (D) moderately concentrated sul-

_ phuricacid

( Space For Rough Work )

(m) o (tumove)



" 48.Combination of identiczal monomers"

- form e

L (A), =Epolymer

-
=

™" (B) homopolymer = -
- (C) hgt_érdpqufnﬁr

= (D) ‘polymer

50.Which of the following gas in
- atmosphere absorbs IR radiation 2

@) Oxygn -
(B) Hydrogén. k |

(© Nirogen
(D) Cabondioxide .

LwcHEM & PRY ()

' 49, Man is the receptor of CO gas which *~ - -

causes

(A) Blindness. .

(B) Cardiacarrost

. (C) Athitis -

® Memﬂgltls o .

(Space For Rough Work) .~

. (13) . :. ) : - (.ﬂmom)-,” ) ,



55, The middle term in th'e-expansion of -

A)

B3

©

D)

]" 0o
(.\"E':) . 15 .

104
("6

j -
DC'Jx

57.Find the values of ¥ and p if -

: '.~-(1—i)xﬂ¢(1+i)y=1m3f*- .

@)

C(B) x
(©C)
(D)

LA/MATH (1} .

o4

© 56.Theno. of terms in the expansion of

J(3¥ .;25; )" is

e
®) 17
L (© 10

ERORUNE

58.1F I, o, o a:é"imagliﬁary cube-roots of
- unity, then the value of

(1_.'_'.@ 4;,(:1:)2_)47 +(1 er‘—tél )7_ is

(A 128 -
(B) 218 7
L (© 128
(D) * None of these.'

( Space For 'ROugh Work') : ﬁ_ L

i 15 ) N T ) ' - (Continued). . .-



* LAMATH (1)

- 63, The radluS Of the 011‘616 c " B 64 The equatlon ofthe circle wh1ch passes
' X+l —2x+4y+1—0 s through the points (O 1) (1, 0) and
(2, 1) is

@ B ' '(A)' x2+y252x'—'2y+1;0
@4 CB) #-ye2x-2y-1=0
©2 (O Reye2eady-1=0
(D) 7‘\/1—9 I [ .-_  D) None of these.

65. The pro;ecnon of the llne segment ' 66.If-a line makes a‘hgies u, B,i'y wiﬁl

) “ (1, 1) and (3 2 4) on Z-ax1s 1s’ X, Y and Z-axis respectively, then the =

value of sin’ a +sin’p+sin’y is-

W e
®s T ®e
o4 O

(D) 5 | S o (D) ‘None ofthese

-

- (Spdce For Rough Work) =~

‘ ..( 1:7_) ._ S : _ (Contihue_d).'



. LA/MATH (1)

15“ ~sinl5° R D
. 71. The value of = . i 72.The principal solution of the equation. -
cosl5 +sm15° BT S APl SULULI y A oL

.coélﬂ-i-'s_inve—l’-l:-:o IS _- .

o (A) -

o
>

B f(B)

S’ + - o

D)

g
RO RS

N - &l i
@

. 73.The general solution of the equation 74 [n any- tr1angle ABC if 4 B C=
I tanax=tanbxis -~ .. 1: 2 3 then smA smB sm ClS i

a+b

(© mr(arp) @ a2
. (D) Ndnéofthése.-_- L o (D) '\_]3.,1":2 '

' ._.'(B) na

(Space For Rough Work)
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* LA/MATH (1)

. 79.For what value of kthe function given  80.If y=+ 1+sin2x, then % is . .
. : L - :

by ,f'(x)'= {;cxz‘-’ ii i;jls géﬁiinuoﬁs ,
Mx=2' N
(A.)_' 3- SR - B (A)‘silix—cos;c,&
®) g- o | | (B) Sin-x‘-i--‘-:.os'x _ .
(© 4 R | - (C).I_'cgisxa:_'msinx
| GD)_'% S o (D) ) Nopeéf.:tﬁe.se.:.

'981 Ify tan'( +xj thén Eyw o 8_-2;‘If‘yl=_x", then %_is o

I-x
By 2 o
(B) Text 0 Lo ®) 1ogx -1
() = A (C) X (1+logx)
o _(D') None of thesc . “ (D) None of these |

( Space For Rough Work )
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_.v-__87 J‘1+e'
N in(é*‘+1')+c'. -
"__'(B) In(e" 1)

© m(ereo)e

o (D_)'. None of thejse';' SR

89 | _f e' I:f ( x) + f'(x)]dx 1s equaito 3

@) ef(x)e
® f()ee

- (C) er[f(x)+f'(x)]+c :

'. - (D) Noné of these.

dx 1s equal to

- 88.If

LA/MATH '(i)

xsinx dv=—xcosx+4, then 4 is

. equalto

@
®

©

90,
_9 f(x
-..<A>_
L ®
©
e

cos x + ¢constant
constant
sin x + constant - .

None of t_hesé. B

3x1

“1)(x+

) dx is equal to

. log[(x 1)(x+1)]+c

None of these. .

(Space For RbUQh ‘Work )
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~

95.The _soiﬁtion of the cii_ffercntial equa-

. dy ot -
fion -—J_i+‘ any:.O-ls
. dxtanx

“(A) tany=tanx+c -
(B) tany.tanx=c
(C) siny.sinx=c .

(D) None of these.

. 97.0fadand b are t_Wo unit vectors inclined

at an angle 0, such that G+5 isa unit

vector, then § is equal to’
(A)
B)

©

-MVS’- RN BN Wy

B

- LA/MATH (1)

96. The differential equation
| (ayz+xr+x8)dr+(y8—y+bx)f)ab}='0 o
is Said"to be exact if -
A b=a
®) b=2a.
- (C) a=1, b=3
(D) b#2a" _V |

| 98.Thevalue of ix{jxA)is

RRCVRE

®i

>

©

EON:

.. (Space ForRough Work )
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- LA/CHEM & PHY (1)

5. A welghthfter hfts a welght off the - : 6. The momentum of a body is numeri- . |
' ground and holds it up ‘ : k_:ally equal to its kinetic "cﬁer,gy. The
| |  velocity of the particle will be,
(#) Work is done in lifting as wellas ~ *(A) Tm/sec

holding the weight.

_(B) 'No work is done in both lifting - (B) 4 m/sec
A ' _ah'd'h(-)]dingtheweight;' ' R
(C) Workisdoneinlifting theweight, ~ (C) 8m/sec’ -
. butnow.orkis required'tpbé done. . ' - e

" inholdingitup.

- (D) No work is done irn'lifting the (D) 2 m/sec -
- ‘weight, but work is required to be a

done in holding it up.

. _k( Space For Rough Work )

S (2) ' ; ' _. s __(Cantinued)



' LA/CHEM & PHY (1)

" 11. A metallic rod is continuo’usly heated

at its two ends. The flow of heat through
the rod does not depend upon

" (A) The area of cross-section of the
rod -

(B} The mass Qf therod .
{C) . lme of heating
(D)' Temperatulfe diffe‘rence '

13. Which of the followmg statement is
“correct 7 : :

(A) Both sound and light waves in air -

are long1tudmal

(B)- Both sound and Iighi waves in air

are transverse.

(C) Sound waves in air are transverse
while light waves are longitudinal.

(D) " Sound waves in air are longi-
tudinal while light Waves are
transverse

 12.The time period of a simple pendulum

is 2 sec. If its length is increased by 4

* times, the time period becomes,

: (A)' 4 sec
(B) 6sec -

C) 8 sec

‘ (D) _2 sec |

14.The refractive index of water with

.4 g
" respect to air is - and the refractive

3

index of glass with respect to air is % .

What will be the refractive index of
water with respect to glass ?

W %

® %

© 3
@) 2

. (Space For Rough Wark )

4) : _ (Turn Over)



LA/CHEM & PHY (1)

19.1n the figure given below, the current
' passmg through6 Qrcsmtor is .
. C 6L .

: I.2amp_%——-W/\('T‘—‘ o
a0

(A) 0.4amp

(B) 0.48amp-
(C) -0.72Zamp
(D) 0.8amp

21.The magnetic field 4B due to a small
current element o at a distance 7 and

carrying current / is

Jt [ dxF)
4r \ ¥ '

&

5 "
(B) aﬁz_ﬂ&jz dixr

o @]

4 r
‘ '_"—ﬁo;' dixF )
() “’3—47:"('—1,3. ] -

20. How much electrlcal energy in kWH is’

consumed in operating ten number
50 watt bulbs for 10 hours per day ina -

- month of 30 days

@ is0
(B) 15000
© 15.

(D) 150

22 Lenzs Jaw is a. consequence of the,

law of conservatlon of

(A) . Charge

(B) Mass

(C) Momentum

__(D)- Epergy

( Space For Rough Work) -
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LA/CHEM & PHY (1) - T

PARTI
 CHEMISTRY

26. The formula of a metal nitride is MN. 27, Which one is the balanced form of the -

The formula of its sulphate is followmg chemical equation :

KMnO, + HC1 —» KCl+ MaCl,

+H,0+Cl,

. (A) MSO, . (A) 2KMnO, +16HCl = 2KCl
o | +2MnCl, +8H,0 +5CI

- (B) MSO, - ~ (B) 2KMnO, +16HCI = 2KCI

__— 1 42MaCL+8H,0+5C],
(Cy M,(80,), S | “(C) 2KMnO, +16HCl = 2KCI )
| | | | +2MCL, +8H, 0+10CI -
(D) M3S_O4' | o _ D 2KMnO +16HC1_.2KC1
| | © +2MnCl, +8H,0 +10Cl,

(Space For Rough Work )

(8) - _ . ) (Continued) a
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" LA/CHEM & PHY (1)
32 Ammonia molecule can form |

(A) ionicbond -

(B) covalentbond
{C) co-ordinate bond
(D) metallicbond

34.What is the equivalent mass of

potassium carbonate ?

(A) 49
- B) 59
(C) 69
(D) 79

; 36 In electrokytlc cell |

(A) Chemlcal energy is converted-

~into electrlcal energy

(B) Electrwal energy is converted_
into chemical energy

(C) Electrical energy is converted.'rz-'_

mto light energy

(D) Chemlcal energy is converted,.

into light energy

33 Which of the followmg is a Lew1s

acid ?

(A) CaCl

(B) NaCl

(C) FeCl,
(D) siCl,

35.pH vahIesv'of basic solution willbe

(A)" greaterthan'7

(B) lessthan7
(C) equalto7
(D) equal to 6

37 The quantlty of electrlclty which
_produces one gram equivalent of

substance in Faraday 8 second law of ;

: electrolyms is

(A) Farad

.'(B)‘_Vollt'.__' |
- (C) Ampere |
(D) Ohm

- (Space for Rough Work ) :

| (Continued) 7



LA/CHEM & PHY (1)

44.Temporary hardness e o

~presence. of

" (A) soluble bicarbonates of Calcium

-and Magnesmm

(B) soluble carbonatcs of Calcium

and Magnesmm

~(C) _soluble chlorld_es_ of Calcium

and Magnesium
(D) soluble sulphates of Calcium
- and Magnesium

46.Molybdenum disulphide is stable in

presence of air up tO

(A)‘ 400 °C
(B) 600 °C

. ((.:) 800 °C-
(D) 1000 °C

' 4;5.\{Iri_.-makjng.1ead pencils, Wﬁich of the

followingisused?

(A) Boron trifluoride

(B} Boron Nitride

| (C) Molybdenum Dis{ulphide

(D) Graphite

47, Calorific value of a'fuel is the amouﬁt
of heat energy released by complete
cornbustlon of

(A) 10 kg of fuel

 (®) 10gmoffuel
'(C)r.l‘gh’lofﬁxel. |
(D) 1kgof fuel

( Space For Rough Work )

(12y o (Continued)’



" (D) Nonecofthese. - R R

LA/MATH (1)

-.1-‘ .
~—
—
B .

.~ PART-II
~ MATHEMATICS -,

51.The valué ofthe determinant o o 52.1f K'is a scalar ﬁﬁﬁd‘{?"- nXn square

e

"W oa bid : matr_ix,’th'en ]KA] isequalto ~= -
1 & §'+a --is | _ _ | '
W O )
(B) 17 . - . - . i R
© a+bte. o |
(D) abtbetea: . - D) K')4

(© K'|a]

-
T
- n

3 .

t

53.lf.4':[ ]_,thenA-l—AT'equals _ 54.IfA‘={1_ S},thenadj.Aisequa_lto ,

A) [

[WR]

U8
o

LT : 3 2

2 w37
SRR 3 =2

B'[z e ® | 5]

® Lo e - - s }

" | -

6 'I

ot

12 3

o 2 © -
Lo |

el
[

D)

5

- _'(_Spaée For Rough Work) -
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LA/MATH (1)

"59'.Resolving into partial fraction if

3x+2° .4 B  C

(x=1)(x=2)(x-3) x—71—+x—2 +x—3

then the value of Cis

N

(B)

(O R CR RV

[N RN

©

(D) ane of these.

61._Thé distande,beﬁween the parallel lines

3x—4y+9=0and6x—8y—15=01is

A
B)
(©)

(D)

60.The equation of a 's'tfaight line which .

passes through the point (0, 1} and has
an inclination 45° with X-axis is

(A) x+y+1=0

B) x—y—1=0

€y y—x—-1=0

(D) None of these:

© 62.If p be the length of the perpendicular

from the origin on the line whose inter-
cepts on the co-ordinate axes are @ and
b, then it satisfies the equation is.

(A) p=‘\/az-+-b2
1 11

R rarares

_ o
(‘E) R s

- (D) Noneofthese. -

s

( Space For Rough Work )

(16)
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LA/MATH (1) =

|

67 The angle betwcen the hnes whose

“direction ratios are (2 3, 4) and

L (1 ~2, l)ls

)

SRS E I STE I

B

©

-w[;a-

69 The equatlon of a piane perpendlcular

: _to Z-axis and passmg through the pomt '

(1,2, 4)is

@ x=t

® yr2-0
(©) z-4=0
@) x+ytz-3=0 +

Y -

68. Iftwopianes Ax+Bly+Cz+D 0

- and Ax+By+C2z+D =0.
o parallei then it satisfies the condltlon__ _'

is B
“ -'-‘-4:-1—?‘: Bl L4
A 0, 7B,
4 B e
- ® T8 e,
o ﬂ:‘ Bl ;#'Cl
(C) B A’f_ B, - C;

(b)"‘ Nonelof these. o

70.1f co_'se‘-—; 4%.and:r <9<2§—,-then the -

- value of -4tém_26_—3 cbsé029 is .

®) -0
- (© -8

(D). 10

( Space For: Rough Work )



"LA/MATH (1)

75.Intriangle ABCif'

cos A cosB _cosC

: a b Ce
- then the triangle is.

(A) equilateral
| . (B) . isosceles.
(C) scalene

(D) rightangle

" |-

77.The value of xl"ll, 0 [I+£) is

2‘.
(A) e
(B) ¢

(C) e.

1D ] =

- (DY

im . 5%-6

. 76.% - m is equal to ‘. )

o
Z
i

FoamY
inw)
p—
Ol i B

—
0
bl - .

® -5

S REEEE
~ -78.The value of xlm:H) i;)svx ¥
B. 1 .
® 3
1

D) None of these.

" (Space For Rough Work)



. LAIMATH hgl)' -

- 'I . - . d . . L . . ) ) ’ . - . : . ) ° .‘
~ 83.If x’ =y, then i— is , © 84.Ifu=4#,and v=sin £ then

_i(A)I (A) cos*t :

@ ®) 2cost

3 IR -'"'cc;sét'
.- © —5 S (C)‘ 2

X

(D) Noneofthese. - . ) cosf

@
'

SSIf f(x)= .7c3"-—.'6_x2 +9x+7,,_ th_éﬁ_t‘he _ 86 Sin(a-i—%}dx is eilualto

- - local minimum value of f(x)is e
(B)_-H-"' . e L , ,(B-)' -b_cos[d'*'%)fc
©s6 - © _~bs‘in(¢i+§)4-c -

| V‘(_D) -1 _‘ = | f | ) o) %cos(“%_.};c:_

(_-_Spa_cefor R"UQ’h-Wbrk:_) o —

K: | ( 22-_)
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' LA/MATH (1)
91.The value of the integral
' iﬂcos.xld.\‘iis
A 1
C.B) 2
©o0

o

93. Thé'ordre_:r and degree of the fdiffeténfial

4 ' DS 7 : '_
(Y % dty
equation {1+ | —5?&-2" is -

(A) o;der 2, degree-2 ._ )

| (B) ofde.x: 1, ciegrcé;é .
(C) , 0r&iey'2;degree—3 _
(D) : ordér'2, 'degre;:-

92.The area under the curve y= ZJ; >

mcluded between the line x = 0,x=1
_ andX ax1$ is.

(A) .‘Z sq. units
1
:(B) "ﬂ—‘ 8q- unitg’ |

- (C) sq units ‘.

L (D) -3- sq- units

- P}

94, The mtegratmg factor of the lmcar-
d1fferent1al equatlon _

(B)
<) 4x
.(D) None of these.’

14 x%

( Space For Rough Work )
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' . | _
99.0f z=sin” [y] the_" 'gy‘ is. D 100 va-—-x3+a,\;y2 sat:lsﬁes the cquatlon
ST T _§v+6 _0 thenthevalueofals-
: WA |

@wE W3

®6

D1 C

(Spacé For Rough Work)
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' NE/MATH (2)

4, If fWi,ce the son's age (ih _yearé )-is added to-the_ father's age‘,xthe sum is 70. But if
- twice the father's age is added to the son's age, the sum-is 95. The father's age
. (A) 30years
" (B) 40 years : |
~(C): 50 years S o
(D) 60 years. |
| 5 If axt+bx+c=0 has equal roofs thén' ¢ is equal to:
(A) T o
- .(B) 22
(C)  4a

ok

2)- o (cémiugéd)

c——




NE/MATH (2)

8. The least number that must be a_dded 10 269 to make it a perfect square is E

@ 20
®) 18
©) 16

(D) 14

9, _If x= [J%%ll and y = _-\g’—i,, then thé v.alue' of x* -y is
@ 25

(B) 443
©). 63

D) &3

(Space For Rlough Work)

(4) ' . L " (Continued)
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13. If f(x)= 2;+23 a?nd)‘x# 2,x € R, then the value of %f(4) is:

™ g

® 5
© 3
o9

141 7 :R> Reatisfies  (x+) =f(x) +/ () forall x, € Randf(1) =7, then

n
r=1

EPCT I
wEF

: '_:A('B): .5--7;(n,2'+-1) |
(C) Tn(ntl) .

. (b), 7n(r;l+_1)

VVVVV - -v .

(‘6). : - {Continued)




NE/MATH (2)

17.fa=2 and b =3, then the value of (-‘-12- + -;:J is

SR
© 3.
- 36
(D) 25
18. The fourth proportlonal of 2,3, 8 is
(A) 12 -
Q) 3'
- @) 1

oy o

19 Two numbers are in the ratio 5. : 8. If 9 be added to each they are in the ratlo of
8 11 Then the numbers are—— o Lo

@ 10mdls
(B) -15and24 . . o
© 29@432‘ T R o
(D) 25and40 i S e

" (Space For Rough Work)

| (.8) - S . . {Continued)




NE/MATH (2)

5.V oc-;; and V=12 whenP= .16 7= lj(),li;c.heﬁ Pis é'c{g'al"l o
® >

- %2

0%

| "'(D) 6 2

24 Thevalueof log,,9+ 3 loga64—-l- log‘,36 (a>0 aatl) is |

NOND log 3
(B) log,2
. A(C) 1og 6
'(D) iog 9
25 If antllog(O 300)= 1 995 the valuc of 10"3 is:

(A) 0.0001995
(B) 0.001995

(C) 01995
(D) 1995

~Space For Revgh oy

f 10) o - o ' (Continued) .
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'NE/GK. (2)

29. Prativa Roy, the famous Odia author is awarded a National Award for 2011. Name the
award. ' ' L -

~ (A) Padmabhusan
(B) Padma bibhusan
(C) Jhanpith
(D) SaralaSamman

30. Who inVenﬁ:éd bicycle ? .

(A) Stephenson
_(B) Macmillan
(C) Edison
(D) Johnson

31.Who invented teleph‘oné ?

(A Marconi
V(B-‘) Darwin
(C) Newton
(D) GrahamBell

(Space For Rough Work)

(12) ‘ . ' (Contx;nued)
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36. Who is hanged on 9th Feb' 2013 in Tihar Jail for attack on the Indian Parliament? -

C(A) AzmalRasab .
. (B) AfzalGuu

(C) Haneef |
(D) _Sayechohanﬁnad

: '37‘."[71}e world famous 'Kumbh Mela' takes place oncein : _

- (A) 10 years
- (B) 12 years

(C) 8years
© (D) 6years

38, Who presented the Union Budget 2013 ?

_ (A) PranabMukherjee
*(B) P Chidambatam

(C) SaradPower .
(D) Kapil Sibal

1)

O O bl RIS
a——

~CSpace For Rongh )

 ( 1'4)‘-_ ol 0 (Continued)
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. 42?Nationa1 Science Day is celebrated on:

" (A) 28thMarch
(B) 28thApril

- (C) 28thFebruary
(D) 28th January

43, Kelﬁ Charan Mahapatra was associated with : o

(A) Kuchipudi
. (B) GotipuaDance
“(C)" Odishi -
(D). Manipuri Darice

44, Pandit Rabi Shankar was associated with:
(A) Flute
| (B) Tabla
- (C) " Sitar
©) Guir

sy

-t'SpaCe Fof-ROﬁgh'Work")! -

. (Continued)
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48, Whotook ovet the regime of Tata Companies from Ratan Tata ?

(A) Y.Debeswar
~(B) AnilAmbani
- (© ‘Cyrus Mistry
| (D) C s. Ra_]u

49, why is chand'ipuri;iddi;ha faﬁibﬁs 7

: '(A) Crocodllc Sanctumy
B ."‘(B) Tlgerreservc :
[_(C) ‘Seabeach |
g (D) Mlssﬂe testmg

) SOSantOSh Trbphy_'is aéSbCi;iféd with: |

(A) Basketball
~ (B) Football .
" (C) Baseball
~ (D) Hockey

"(Space For Rough Work) -

”(“13) T _(Céfz.tiﬁued)_’ =
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55, Light
. (A) travel

(B) “travels -

(C) istravelling

(D) hasbeen travelhng

very fast.

56 There is hardly——-—- tea left
(A) -any -
(B) some

C©) few
(D) afew

57, Write the correct answef -
(&) of

(B) into

©) to

_ (D) for

the Qﬁestioh; :

Identify the part A B IC ID in the followmg sentences that has an error. o

58. Faster- you run, | the cooler it gets.
A . B c D

' 59.-‘This is the first til_'ne:. Iam going 1o aﬁeﬂd]:hemeet_lgg, '

CSpace For Fomgh o)

(20) o (Continued)
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running from me like a herd of deer, although I had no intention of attacklng them, When1
’paused in frontofa tallor S shop, he abandoned his machine anid shut hlmself ina cupboard
.waihng, “Alas, Tam undone ! won t someone shoot that tlger ™. '

- 66, The word I in the first lme of the passage standsfor: |

(A . Theauthor

- (B) Thetailor C o | S
(C) Thepeople . = - . S e e
- (D) Thetlger S I

67 The tlger had had the opmlon before entenng the Market Road that human bemgs L
were : . _

(A) strong and fearless
-(B) aherdof deer
‘ '(C) in the attacking mood "
D) behln_d the pillars

68. People Watching the tiger in the circus were :

(A) frightened

(B) happy I
- © m@“ganmse e
- (D) perturbed e

T (Space For Rough ark)

(22) S " (Continued)
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73.Abandomed: o
(A) stopped to work
~ (B) continued to work
(C) returned to work
(D) started to work
_Choosé the right word from amdng‘the_altqriiatiifes-,v"vll_':ich- is o‘pp-osifé‘ ‘_‘in' :
- meaning : ' S ‘ . S B

‘74. Paused :

. (A) dropped
(B) stopped
(O stood
- (D) paced
75; Like :-"
“(A) onlike
(B) unlike

Q) dislike
(D) 'disdain

el _ .,A e - " n -

'.'(:Spa"ée For Rbugh: Woﬂé ) o

, (24 ) : ' - * (Continued)
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79 The ﬁrst person to see a 11v1ng cell was :
(A) Robert Hooke - - -
(B} Robert Brown |
(®X M J. Schlelden e
(D) Antonyvon Leuwenhock _
80. Which cell is phylogenltlcally advanced ?
(A) Unicellular organism
(B) Multlcellular orgamsm
(C) Eukaryotes '
(D) Prokaryotes '-
81.DNAs: , :
(A) Always double standard
- _(B) Rarely single standard
(C) Always single standard
(D) Rarelydouble standard
82.Lead in water causes
(A) Byedamage
~ (B) Loss of hair
(G Kldney damage
(D) Arthrms

(26.)'.

(Space For Rough Work)

{Continued)
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86. Water matching distilled water can be obtained by -
(A) Permutit process .
| (B) Liﬁe-SOda lp_rocess'
(C) Boﬂmg |

(D) Ion-exchange mcthod

87. What is the valcncy of copper in CuO ?
(A) 1 '
®) 2
© 3
(D) 4

88.The bond angle in ammonia is :
&) 100728 -

(B) 90° |
'(C) 107°
(D) 107°.28 | | |
( Spa?ﬁ‘gr Rough Work) R
28 " (Continued)



NE/GEN.SC (2

PHYSICS
92, When sound travels from air to water, the quantity that remains unchanged is
(A) Speed | | o

(B) Fréquency

| (C) Intensity

(D) Wavefength.
93.The bo.ilin.g- point 6f watet decreases when surrounding :

[7N) .Ten'lperamré'increases - o |

'(B) Temperature dccréases '

(C) Pressure increases

(D) Pfessure decreases.

94. Refractive index of water with respect to air is

NN S

® Y -
o Y4
| (_‘Spaﬁ;é For RoughWérk')
(30). B . (Continuedy
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98, The ratio of displacement to the dlstance 15
' (A) Always <l

_ (B). Always > 1-.

C© Maybes1

(D) Always=1 |
99, Whena body moves along a stralght lme the motlon of the body is said to be

v

| (A) One dlmensmnal
- (B) : _Two dunonslonal
| (C) Three dimensional
(D) Maybe any of these three

100, What is the position of the boat when a person sitting in 1t and push one of the wall
of the boat ?

(A) Boatmoves forward w1th a umform velocity
- ~ (B) Boat moves forward witha non-umform velomty
- (C) Boat rboves backward -

(D) Boat remains at rest.

(Space For Rough Work)

(32) e




* NE/MATH (3)
 BASICMATHEMATICS
- { Use of Calculator and Logarithm table no‘t 'allowed )

1 If & and Bare two roots of the equatlon x2 +x—-2=0 then the value of a’" + /3‘1 is
@ 2. | | -

® 2
© 3
© —

2 The value of o for whlch the system of equations ax.+ 3y=a-3
' 12x +ay=aq

has no s‘olli'tion is:

(&) =6
'_.',(B) -5
(© s
D) 6

3. The length of a minute hand on the wall clock is 7 cm. The area swept by the mmute
“hand in 30 minutes is : . o S

(A) 147 cm?

(B) 210 cm? -
- (©) 154 em?

D) 77 em*

( Space For Rough Work )

(1) _ (Turn Over)



NE/MATH (2) -

6. The média.n of the foﬂbwing distzjibution‘ is:

Weights - | |
(inkg) .1
Numberof | 5 | 7 s | 15 1 2 | 3
| persons e

0 | 45 50 [ 55 | 60 65 | 70

@) ss.
" (®). 50
© 45
) 60

7. For the following data b | L
1,1,0,2,3,5,5,6,8,10,11° .+
NCY "Me'an=M6'd<;=Medi§n o

(B) ,‘Mean-‘-'-Mode_ N
(C) Mode=Median
(D)- Meaﬁ=5 B

~ (Space For Rough Work)

o

(3) ‘, o | (Turn Over) :
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| 10 If the side of an equilatéral triangle is-4./3 cm, its area is :
@ e’ - . . i

S 24
B e

i '(C) 12&[37(:1'112
@) 243em’

11 The sides of a rectangular park are m the ratio 4 : 3. If it's areg is 1728 m? then the
" cost of fencmg itatRs, 2, 50 per metre is: - L e
(A) Rs. 320.00
- (B) Rs. 420.00
'(C)‘ Rs. 840.00°
- '(D) Rs: 680.00

12 The helght of a parallelogram is one-thu'd the base If the area is 1089m2, then its o
helght is: | | ! |
- (A) 6 cm
: (B) 7 cm -
©) 8em -
S o Ym ‘ o
— * (Space For Rough Work).

F

.'( 5) . , | o (Twn Over). ”
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15, A cylinder and a cone have the same héight and the same radius of the base, The ratio -

between the volumes of the-cylinder and the cone 1s :

| ®) 1:3
(O 3:1

D) 2:1 .

. 16.The mean of the 7 scores x, %, X, ...,x, is M. If iz (%-12) =—10and 2, (% -3)
. ' o ’ - . =1 ’ . 7=1 - ‘.

= 62, then the valbe of ' is

R UI
®).8
© 12

" et RS

| - ('Spa-ce‘FO'r:Rbitgé..Wofk"-)f' -

() o S (Tufﬁov&)



- NE/MATH (2)

- 20, The area of a trapezxum is 1080 cm?. If the lengths of its parallel s1des are55.6cm
and 34.4 cm, then the dlstance between themis: : o
(4 48cm
- (BY 36¢cm
(C) 24cm -
(D) 12 cm

21.The area ofa rhornbus is119 cm2 and its perlmeter is 56 cm. Then its altltude 1§ ;
(A) 8.1 cm '
(B) 83 cm
(C) 85cm
(D) 87cm

22, The curved surface ei'ea of a sphere is 1386 cm’. Its volume is -

(Taken' = 32—) ,
_ 7

(A) 2772 cm®
(B) 4851 cm®
(C) 5544 cm®
(D) 4158 o

" (Space For Rough Work)

(%) | - (Turn Over)
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: GENERAL_ICNOWIEDGE
26T11e Rajyaram Express in Od1sharuns fro PR

(A) Bhubaneswarto Jharsuguda

(B) Bhubaneswar to Koraput.
(©C) Bhubaneswar to Rourkela
(D) ‘Bhubanesw,ar'to Berhampu.

- 27.Bill Gates; the famous Computer Software maker of USA, is aSSOé_iatc'd )}vith : .

(A) Infosys
(B) WIPRO
(C) Microsoft
. (D) Satyam

28 Delhi is situated On-the bank of the river :

' -(A)'-'I‘heGanga |

(B) TheYamuna
" (C) TheBramhaputra
”'C» TheTapti __’ L

— =

(11) - (temowen
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. 32.What is the number of Squares on a chess board 2.

(a) 72
(B) 64
. (©) 487
(D) 54

33 The Latest Censusin India washeldin -

- (Ay 2000
(B) 2010
(€) 2011

(D) 2012

* 34:TheDavis$ Cup s a"'ss‘(r)'biafté,d with :

. (A) Football =
-~ (B) ‘Lawn Tennis
. (C) Hoéckey

(D) Baseball

| '35,‘,11W_1'10 is the'maﬁu_facturet of the Car ‘Nano' ?.
@A) Mati
. (B) Hyundai -
(C) TataMotors
(D) Honda .

(13) | S (turn Oven)
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39. Who is the Finance Minister of Odisha ?

" (A) PrafullaGhadei

" (B) Maheswar Mohanty
© PrasannaAcharya
(D) Raghunath Mohanty

40.Malala Yousafzai, who Wa‘s shot by the Taliban, belongsto ;- ,'

(A) Afganistan
 (B) India

(C) -Bangladesh
. (D) Pakistan'

41. Who was the first women President of India?: . - S

"(A) Sarojini Naidu - -
(B) IndiraGandhi

(C) PrativaPatil . . = . -
(D) I.Jayalalitha

B ( Sp&CeEo;ffRoig"ghWo?k;) | T

" (15) ‘ ' (Turn Over)
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45. What s the approximate playing time of the National Anthem’ -th_la_i a7 -

Q) & seconds
(B) 52 seconds
(C) 62seconds
®) 32 'seconds '

_46.._1_)'han'rfaj Pillay is as'soc_:ia{'edwith:' L

(A) Cricket
(B) Football - -
(C) Hockey
. (D} Lawn Tennis

47.Who is the only b_a'tsman:in Indian cricket to score Triple century ? -~ -

" (A) SachinTendulkar

(B) SunilGavaskar
~ (C). VirendraSehwag

‘(D) V.V.SLaxman

(17) ‘ | : " (Turn Quer) -
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Each question .carrz'es ONE mark_ o

NE/ENG (2)

Choose the rlght alternatlve for each blank space in the followmg sentences :

51 We often send money——— post
(A) in
(B) on
(©) to
(D) by

52. Do you mind——a frlend in need 7
(A helping

(B) help

- (C) tohelp .

U)) being helped

53. We should have sympathy
(A) to
(B) of
.- (C) towards
D) off
54, The full form of can't is —
'(A) can not o
(B) cannot

(C) canot -
(D) none of the above.

- the poor.

" (Space For Rough Work) |

(19)

' - (Turn Over)
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. 60.Amumberofpeople havecome fobuy thetickets, | .

. 61 There is nocure ofcatcer =
- A B C - D

62. Any school s always praised ifitis producing good students.
' A B T C D

163.."1‘he injured istaken to the hospital for freatment. B "%

.64, When;_h_q t_gachet_ jw_as eﬁtet'i‘n_ the cl;aSs,“.all the students stood_ut). o ;% o
65.Are three-fourths of the field empttr?

g Read the followmg passage mmdfully and choose the correct statement m the hght '
: of the passage that follow ' . .

It was stlll a busy hour in the city when Tentered the Market Road People ran for their llves L
at the sight of me. As I passed through, shutters were pulled down, and people hid
~ themselves under culverts, on trees, and behind pillars. The population was melting outof
sight. At the circus I had had no chance to study human beings. They sat in their seats '
,peacefully while I covvered before the captain's whip. I got a totally wrong 1dea of hurnan

o E belngs at that angle I had thought that they were strong and fea:rless But now I found them

( Space For Rough Work)

(21) . L wmown
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: 69 Seolng the tiger i in the Market Road people

A gatheredmone place '
SN '(B) threw stones at the tiger
A "+ (C) disappeared -
o (D) werestill busyin their work.
- 70. The tiger wanted to~——

(A) kllI the tailor o
~(B) " frighten the human bemgs
(C) kill the deer

(D) none of the above

_Choose the nght wordlexpressmn whlch is very close in meamng to the Word
in relation to the passage

71. Cowered

: _ (A) shouted in _]oy
S "(B) crouched infear
.-~ (C) caughtthewhipinfear -
R - .(D came forward '

72, Culvert means underground passage for

. (A) People
(B) Birds
. (©) Water
(D) Wind .

(Space For Rough Work)

3y . (umoven
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BIOLOGY

76, Anaerobic resi;ira;ion aftér glycosis is also called ; -
(A') Mﬁ_ltip.licatibn = | | J.
(B)  Fragmentation . - |
(C) Fermentation
(D) Restoration,
- T1. Bio-.dcgradable materials are : ,
(A Those Whlch sp01l the b1010g1cal environment
'(B) Toxic mnature o
-(C) Canbe broken downbybactena _
(D) Usedto convertmg ‘waste into greenery
78. Frog resplres through .
LA Gills -
(B) Lﬁngs
C(© Skin
" (D) Gill clefts.-

. NE/GENSC (2)

"(Space For Rough Work)

(25)

. (Tilrn bl_lér)
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CHEMISTRY
'.83.-The fofal number of funda'lﬁcntél particles in one atom of C!* i_s. SR
RONE | . |
© 3
(D) 4
 84:Mass of electron is
(A), 9.1x10% gm
(B) 9.1x10% gm
(O 91x10™ gm
(D) _9.1%10'”‘ -gl}l. |
85 H‘m‘dnéSs of water is due to |
N '(A) Dissollved-org'ani.c rna_tfer =
(B) Dissolved Na and K salt
(©) Dissolved Ca and Mg salt
(D) SUSpeﬁ_ded matfer. L

(Space For Rough Work)

(27) |  (Turn. Over)
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89. Itis the o.n'e‘in which the atoms .o‘f each element are equal in both sides
| (A) Skeleton equation ‘ ‘ '
: (B)' Moléculé.r equafioﬁ
(Cy Afomic e'qu'ationr' ,'
(D). Balanced equation -_
Qﬂ,.The' chemical formula for Aluminium Nitride is
L (A) AN,
B) AN
(©). AIN
(D) ALN,
91. Co-valency is fav"ou_red by :
(A)  Small cation and largé anjoxi |
(B) Largé qati'on'and s-n;ail anion |
(C) Large cation and largé api@n |

_(D) Small cation and small anion,

—

 (Space For Rough Work)

.( 29) ‘. o . (ﬁ»:m Over)
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'95."1“_]_ie valuc of _Abé_olute zero on the Fahrenheit scaleis:
&) 273F | .
(B) —459.4°F
(C): O°F
(D) —182.7°F

V96; Theragio between poténtiél difference and current isknownas:: - -
(A) Conductance | - |
(B)- R_es'ist;ancer
.'(C)- Heat capacity |

‘(D)'_"Spé"ciﬁ'c'fé’sistanéa o

97. The velocity of sound is maximum in which of the following? -
(A) Iron | o "
(B) Water

- (©) Merthy
(D) Air

o (' Spd'ce Fo};--Rou;gh Work ) S

3ty - (Twm Over)



